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Question Number : 1 Question Id : 492863641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Assertion (A) : Species is the lowest taxonomic category in the hierarchical arrangement
and shows distinguishing characters from one species from other closely
related species based on several phenotypic characters. However. as we
go higher from species to kingdom the number of common characters
goes on decreasing.

Reason (R) : All plants come under the highest category called kingdom. plantae. which
has two major classes dicotyledonae and monocotyledonae.

Ao (A): S0EGFoN EI00S” 28 EAY H08Te (HIrE20 HoVBW IR wETOR
89 o8 éa‘r% $08B0E S domodo Ko &S e ¥ &y¥y oferren
8O 9008, 23938 2@ Koo orago S8 FPHJHDHyd o8 Dodrd
ofeTrer Sihdr Yodrow.

sdmo (R): o) SwH 0 GHS PIrS Fod B TErgds HonodoNID. HAS®
Sods Somg SEHEDS B16Y, WEEE bareo S,

Which of the following 1s true?
& 1Bod TS® DB DEgBH0?

Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)

- (A) S08csn (R)Todsr S8ghn oain (A)S (R)H0gs Ddde

(A) 1s true. but (R) 1s false
- (A) 88550, 52 (R) 085500

(A) and (R) are false
- (A) $s8050 (R) edeghn

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
A (A) 08050 (R)Bodsr S8gsbw, 50 (A) 8 (R) D850 D80 52

Question Number : 2 Question Id : 492863642 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Study the following lists

ListI
(a) Prions
(b) Viroids

(c) Phycobiont

(d) Mycoplasmas

808 T8I #S55B0s
arde 1

(@) Gddraen

(b) Sorowben

(€) HEDSF0ES

d) STy

The correct answer 1s

98 Lo 23720

Options:
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pow (1) (1) (i)
@ ® (o)
. % (V) (1) (i)

@ O (©
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(d)
(iv)
(d)
(1)

(D
(11)

(1)

ListII
Saprophytic and parasitic organisms

(11) Lacks the protein coat. and RNA is of low molecular

weight

(111) Infectious agents which possess only proteins but

not nucleic acids

(iv) The algal component in a symbiontic association

(V)

(1)

Organisms that completely lack a cell wall and are
pleomorphic

e 11

F8sSE H08adn HorHRYes

(ii) ES E5568 0ok S8 weveroios RNA
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Question Number : 3 Question Id : 492863643 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following lists :

List1 ListII
(a) C.GK.Ramanujam (1) de Historia plantarum
(b) Sutton and Boveri (11) palynology
(¢) Theophrastus (111) sexual system of classification
(d) Carolus Von Linnaeus (iv) sexual reproduction in plants

(v) chromosome theory of inheritance

Eod FEI 2E5ES0s

erde | e II
(a) .23 odocdozo (1) & FFdosr Fobsdo
() dYS Hodoio 230 (i) Hoeiide0 FJ0
(€) BI:arg® (iii) Sohg 5088 S5
(d) 8500 79 OO (iv) Joof o Bohs (Hegedg

(V) @Hdo388e8” Fardrsoe dFogo

The correct answer 1s
D8 LoDy 2I%ew

Options:

@ @® (© (@
g% (1) (1) (@) (@)
@ @® (© @
> (1) (VM (1) (@)
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Question Number : 4 Question Id : 492863644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Statement (S) : All bryophytes are homosporous
Reason (R) : In bryophytes. gametophytic and sporophytic bodies are conspicuously
different and the life cycle is called haplo-diplontic.

Ao (S): EArplw o) SHonghacsnere
80 (R): RErp8ed’ SoBrl dud Sodokw miﬂéﬁ)eacﬁ OFten P Yo H58°gd0

59, Q8 Bobosw GGoIoREs Xad WEO $O trolrron

Which of the following is true?
& 180D TAS® B JBgd0n?

Options:
Both (S) and (R) are true and (R) 1s the correct explanation of (S)

. (S) SoBcie (R)Bodkr 855 50805 (S)§ (R) 96808 D58e

Both (S) and (R) are true, but (R) is not the correct explanation of (S)
v (S) H080%0 (R)Bodr d8500, 550 (S) 8 (R) 305308 958w 506

(S) 1s true. but (R) 1s false

|, (8) 8853, 0 (R) o855

(S) 1s false. but (R) 1s true
o (8) ed8sin, 50 (R) de8gdo

Question Number : 5 Question Id : 492863645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Study the following lists :

ListI ListII
(a) Fucoxanthin (1) Liverworts
(b) Chlorophyll D (11) Strobili
(¢) Ginkgo (111) Rhodophyceae
(d) Amphibians (iv) Phacophyceae

(v) Living fossil

Bod TBY u8HEScE

erdee | e 11
(@) Irg8lerode (1) 03655
(b) Jgsogo D (1) FopoHheo
(c) fofR (i11) &
(d) &Fdsosoren (iv) adr

(V) 28D oreo

The correct answer 1s

o8 00080 23720

Options:

@ ® () @
pow () @v) (1) (V)

@ @® () @
. () (i) & (1)
@ ® () @
. x @ @) @) (W)

@ ® () @@
L ox (W) Qi) (v) (1)



Question Number : 6 Question Id : 492863646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Study the following lists :

ListI ListII
(a) Rhizome (1) Aslender lateral branch and arises from the base of main
axis
(b) Corm (11) Stem 1s modified into a needle like structure
(c) Stolon (111) Branches of limited growth that perform photosynthesis
(d) Cladophyll (1v) Colocasia

(v) Curcuma longa

Bob TEI 2EHET0d

erdee 1 e 11
(a) &5 (1) Pod o Iwnden Sood D:ﬁgéc‘é DA FE TP
(b) &odo (11) Jrdoeldd Srroddo Todd som e
(c) Fo (111) 88evasy Hod@rHScids @*é&& ST RN f&g@éﬂ TP
d) 5605 (v) &odaalr

(V) § e eror

The correct answer 1s

D0 LoNd 2w

Options:
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Question Number : 7 Question Id : 492863647 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Indicate the statement which 1s not correct?

& 808 TS" I VS gy 56 dordood.

Options:
1. %

Stem tuber of potato. thizome of Zinziber and corm of Colacasia help in perennation
to tide over unfavourable conditions for growth.

20mEnoHes® Hodsrodo, @wod® §5n) HbBasw SFefvalres” Somen H&sro

DOpE S &?L;E"EOFT” Jod &b dos FEyderow

o
Roots of Taeniophyllum and Avicennia called pneumatophores. help to get oxygen

for respiration

HITrDeo 508080 @IV & Tedlrered odnd 38 THOBHS® eiuds
Fodiradd JFfchddsron

3 ®

The haustorial roots of Striga and Cuscuta help to obtain water and minerals from
the host plant

E@mﬁé&ﬁc&m EABRbY e’ L*E%’jﬁda He Ecﬁg SETAL o0& VB Jodoiw eldred
HeTrodirag Ga@rnhdaow

4 %

Rhizobium inhabit the root system to fix almospheric nitrogen by forming nodules.
nodular roots in Pisum. Cajanus. Cassia, etc

5’_:}555& Eore s, Foolr JnndBeid T I I}gf}i&;eﬁﬁ S Do esTdo 55360;“3:%’53

@ Do, D IPH IBED TE S0’ Ho JFaIY Fhos

Question Number : 8 Question Id : 492863648 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Study the following lists :

ListI
(a) Spadix
(b) Valvate
(¢) Cassia

(d) Schizocarpic

Bod T8 28d8G0d
arfee |

(a) &S

(b) Eatoiodo

(c) Foalr

(d) e'sy§

The correct answer 1s

98 o0 22aTr

Options:

@ @® (o
(i) G G
@ @® (o

v @) (i)

@@ ® (o)
L x ) (V) (V)

@ (@® (o)
L x (v) (i) (i)

(d
V)

(d)
(1)
(d)
(iii)

(d

ListII
(1) Acacia
(11) Tridax
(111) Calotropis
(iv) Colocasia
(v) Zygomorphic

e 10
(1) eFdaisr
(11) &?@"'@

(111) F&praHs
(v) Seosrale

(V) 288 FhScs0so



Question Number : 9 Question Id : 492863649 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In plants growing under environmental stress condition. seeds germinate while they are on
the mother plant. An example for such a condition is :

H0dT0 286G IR I ot IETw wodule S I D wudid. & HOJ8S
ST I8

Options:

Wolfia
- rﬁr%aﬁ”

Brown alga

. % ARSI Fdwo

Rhizephora

5 @ OEFTT

Eucalyptus

oo O

=
4 ® p

BEA

Question Number : 10 Question Id : 492863650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Assertion (A) : Herkogamy is common in Datura plants.

Reason (R):  In Herkogamy. anther and stigma are placed at different positions so that
the pollen cannot come into contact with the stigma of the same flower.

i

o (A): O A Jelror 308 0® FErdeo
D582 (R): ) et Do Eiren, Soro HAH IS’ Hodho ol HMa
o8 ) Soroso BESE

Which of the following is true?

& 1808 TIS* A DSgB0?

Options:



Both (A) and (R) are true and (R) 1s the correct explanation of (A)
, % (A) 508050 (R)Bods ﬁ@’gé‘i‘m 8050 (A)8 (R) é&@o:‘& Dl

Both (A) and (R) are true, but (R) is not the correct explanation of (A)
, % (A) 00050 (R)Boder d8g50, 572 (A) 8 (R) B0G08 258 0

(A) 1s true. but (R) 1s false
- (A) S50, 520 (R) evdegidon

(A) 1s false. but (R) 1s true

- (A) @d8gd0, 520 (R) d&g:bw0

Question Number : 11 Question Id : 492863651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Assertion (A) : Polyembryony 1s observed in plants like Mango.
Reason (R) : Nucellar cells develop into the embryos.

QB0 (A): Soradod Joof) &° wdvnodddn Hdodomdd

A58 (R): eomodidamre ferw Domodm 3 Sodsron

Which of the following is true?
& 808 TS A6 DgH0?
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A)
[, (A Soeme (R)Beds Sagie S00 (A)8 (R) S0ga 256
Both (A) and (R) are true, but (R) s not the correct explanation of (A)
- (A) So8csn (R)Bodsr 38gbw0, 520 (A) 8 (R) 38508 dd8m 57

(A) 1s true, but (R) 1s false
- (A) 2550, 570 (R) eddgadan



(A) 1s false. but (R) 1s true

. % (A) o3850, 520 (R) gm0

Question Number : 12 Question Id : 492863652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct :

1 Wrong: 0

Match the following lists :

(a)
(b)

(c)

(d)

Bod

(a)

(b)
(c)

(d)

ListI

The mesocarp and endocarp are fused to form
pulp and the seeds are hard

Stamens are united into one bunch

The main axis continues to grow and flowers are
arranged laterally in acropetal succession on the
branch of peduncle

Stamens are united into two bundles

TN 2SDHEDod

e 1

S’Jactﬁgﬁﬂééﬁzﬁoﬁ wod:deENdo ISTelon bR b
Koapdd JEYETO0. DT AL GoLraw
000 Dodingd DYoo A deEron
PFduvgo e Eom DEMET HQ
DFrgRyodo D RDTNLY RETETPO

N8 OIS oS @b Gotron

Sd0ren HodinEd Bod Powren By ow

The correct answer 1s

o8 eso& 2aren

Options:

(1)

(11)
(iii)

(iv)
(V)

(1)
(11)

(iii)

(1v)
(V)

ListII
Pisum

Asparagius
Crotalaria

Tobacco
Capsicum

PITE0
ST a0

i
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Question

Number : 13 Question Id : 492863653 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct :

1 Wrong: 0

Smilax possesses the following characters.

1)

ii)
ii1)
V)

Six tepals and six stamens in two whorls. odd tepal of outer whorl 1s anterior in position
and odd tepal of inner whorl is posterior in position. Valvate aestivation.

Pentacarpellary. ovary inferior. pentalocular with few ovules. stigma bifid and simple.
Fruit is usually capsule. endospermous seed
Flower 1s solitary, bisexual.

Eéwgﬁj & 8od ofren §8 Hob

1)

i)

1i1)

V)

esth HOEren Bot Hooires® Joirow. FeHd HOTLOT B BB Jrogosod”
Dotwod. SN FooLod A BINOVEo HTeB0S” Hotwod. SN YRIWD
Hod poderaiwdo, ﬁa’agl@oa?%’oﬁjq Howdeaindoes” g?\?l QOE e Jotrow. Egarad
Serio, ¥

LV0 Tl ¥, woBdHE e

Qe 2508500, &rdoiigo

The correct answer is

o8 008 22ame

Options:

1 # 1,

1, 1v & iii



L v i &iii
L x &V
L w i &

Question Number : 14 Question Id : 492863654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

H,0, is converted to water and oxygen by an enzyme which is present in the cellular
organelle.

H,0, 5 & 508050 es8esdm H8588 B 0B o Eerrood® Hotwnod.

Options:
Glyoxysome

T1es8\FA00
1% & T
Peroxysome

= \,::t.ﬁ_u’
o wﬁuéﬁjmnﬁ.}

Lysosome

. x SFFB0

Ribosome

VRS
4 ® ==

Question Number : 15 Question Id : 492863655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Identify the aminoacids containing hydroxy group in their structure
1) Cysteine

i1)  Threonine

ii1) Tyrosine

v) Glutamic acid

TEE) 1D 0 oS sdre doymos’ Hod' Hgotod
i) S

1) &BoIe
1) BEDIS

V) Srtodo§ o

The correct answer 1s

D8 00N e3aren
Options:
| % 1& 11

L i & i
L e &IV

L% ii&iv

Question Number : 16 Question Id : 492863656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Assertion (A) : Meiosis increases the genetic variability in the population of organisms
from one generation to the next and such variations are important for the
process of evolution

Reason (R):  Errors in DNA replication is the main cause of such a genetic variability
during Me1osis

QS0 (A):  EodEde IFas €3 aTrerd” 2ag3Adgs ol 8o ood ITE S0k
Do, & S5E HODHESTIS T PHErSo
o (R): DNA $8585°0 &'Frods §obEdn Jeds’ 28h adogl3adgd TS

5820

Which of the following is true?
& 180 TRS® A& DBgH0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)

- (A) So8csn (R)Bodsr S8ghn ocin (A)S (R)S8808 D6

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
. % (A) 000iw (R)Todsr 850, 570 (A) § (R) 205308 Jihdee 52k

(A) 1s true, but (R) 1s false

, (A) D550, 570 (R) edegabmn
3.

(A) 1s false, but (R) 1s true

. (A) oddgsn, 5 (R) e gada0

Question Number : 17 Question Id : 492863657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following

8od B asHEHos

(a)

(d)

The correct answer 1s

28 HO oS =T

Options:

(a)

pw (@

(a)

- o (111)

(b)
(1)

(b)
(1)

()
(iii)

(c)
(i1)

(d)
(iv)

(d
(v)

(1)

(1)

(iii)

(1v)

(V)

Sclereid

RBGe0

Tracheid

apleS-T=0Te

Fibre

Pvils]

Vessel

SO Yo

Colenchyma

"'m;m?ea Eep2r 00
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Question Number : 18 Question Id : 492863658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Arrange the following from perifery to the centre of the stem in dicotyledonous plants
1)  Pericycle
11) Endodermis
1i1) Protoxylem
v) Metaxylem
v)  Phloem

&8¢ DB o TodosS” GoB & 1§od TE o Hod SoEs wlodiod
D) S6wEs®
1) eod:dg B
1) (DEH THDH
V) @odgmrddd
V) PARE Emreo

Options:

1 % LV, IV, 101,11

> % 1,11, V,1v, 1ii

3 ¢ 11,1, V.1V, 1il

4 % 11101, V.1V, 1

Question Number : 19 Question Id : 492863659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Roots of the following hydrophytes are fixed to substratum. but their long petiolated leaves
keep them floating on water surface

1)  Salvinia

i1)  Victoria regia
1) Utricularia
v) Nvmphaea

$rgers Vol DUEN HoB 3K FEIS Joarew EOA A8 GHdEw0 R BOHod HiETew
fo B I e & 808 T8S* AD?

1) S

ii) Do dzcir

111) cSoE3ssBoosr

V) Qoaads

The correct combination is
A8 VS ¥AoP

Options:

1 ® ] & 11

o % 1 & 1

- x M&1

4 v N&IV

Question Number : 20 Question Id : 492863660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The amount of CO, and H,O absorbed to produce 180 g of glucose are

180 (rdwe Ar8'E wégs, sFacddons CO, Hédsw H,O
Options:
193 and 264 grams respectively

| w 193 S00adn 264 prdwes S8R



108 and 264 grams respectively

, » 108 2000dn 264 rawee S

264 and 108 grams respectively
5 @ 264 508050 108 rdnes SSdm

162 and 264 grams respectively

4w 162 508050 264 B S8BT

Question Number : 21 Question Id : 492863661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following requires energy?

B3 DEYE) TES® B8 8 ©3H80?

Lo

Options:
PBSSi‘u’E‘ H’HIIS}JGIT

. ® SJ@JETDTUD Hareae

Active transport

5 Db Gared

Facilitated diffusion

. x DOTSE Db

Diffusion

Question Number : 22 Question Id : 492863662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following :
List-I

(a) Manganese
(b) Magnesium

(c} Zinc

(d) Nickel

Bod T8 2485800k

erfer-1
(@) SroKAD
(b) Sohyacsoo
(c) =of
(d) J3S

The correct answer 1s

DB Loy 2arew

Options:
(a)

| (i)
(a)

o W (iV}

(a)
2% (@)

(a)

L v 1)

(b)
()

(b)
(1)
(b)
(11)

(b)
(iii)

(c)
(i1)

(c)
\]

(c)
\Y]

(c)
1)

(d
(1)

(d)
(iii)
(d)
(iv)

(d)
(iv)

(1)
(i1)
(iii)
(1v)
(V)

(1)
(1)
(iii)
(1v)
V)

List-IT
It activates carboxylases

Splits water to liberate oxygen
Involved in the synthesis of DNA and RNA

Activator for urease enzyme
Helps in stabilizing the protein structure

erfar-11

o8 BRos GBudsy

O 3]@:1655} 200 el ddode VoS
DNA, RNA 8038:0¢° S¢S &S00

SB00GE JoBdwiy eBaddnd

FES AoprdE REERE SHaDEE08



Question Number : 23 Question Id : 492863663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Identify the following enzymes to which classes they belong to :

T Argmmosuccinase
L  Argmosuccinic acid > Arginine + Fumaricacid

II. Glutamic acid +NH; +ATP

Glutamine Svnthetase . :
- > Glutamine + ADP+ Pi

& 180B JoFdoew 2 SEK8E BodIST KHogotod

@ggﬁiééﬁzﬁ_

L s8I 0805 o sdoe T Jeodbudo
23 o £ = h £

i

L {perdo8 edpo + NH; +ATP

RETFRR DB ‘
E 5 S +ADP + Pi

The correct classes respectively are
QoR Sdnde JBD

Options:
Oxidoreductase and ligase

| s8)&0U8E Sodosw TA&

Lyase and ligase

, o ©F $8050 TAS

Lyase and transferase

5 % QO0E JBAw EWrHIOE

Hydrolase and ligase

T GBE So8akn TASE

Question Number : 24 Question Id : 492863664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Find out the location of the following molecules in different components of chloroplast

List-1
(a) NADPreductase

(b) Protons produced by
splitting of water

(¢) F,component of the ATPase

(d) F,component of the ATPase

List-1I
(1) Embeded in the membrane of Thylakoid
(i1) Lumen of the Thylakoids

(111) Outer surface of the Thylakoid
membrane
(iv) Stroma side of the membrane

S0&0mmuYe eddbsod’ & Bod vmuHe FSSwod Hgowod

erdar-1

(a) NADPocgs

(b) Q8 2o wgor P8R0 G&8
(c) ATPS:E dBwg) Fyudsidobso
(d) ATPSE wg) Fiedsdobso

The correct answer is
50 Lo 2aew

Options:

(@ ® (o)
v W) @) @

(@ ® (o)
> x (1) () (@)
@@ ® (o)
- x (V) (@O ()

@@ O (©
L @O @) ()

(d)
(iii)

(d)
(iv)

(d)
(i1)

(d)

(111)

ardee-11
(1) Bosond FiS” ©HdIH
(1) Posond Srdods’
(1) Fosond Fé GLEw0S
(iv) o305 008 39 &) FES°

Question Number : 25 Question Id : 492863665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



In photorespiration RuBisCo binds with O, to form
1)  Phosphoglycerate

ii)) Phosphoglycolate

ii1) Glyceraldehyde - 3- Phosphate

iv) Phosphoenol pyruvate

a9
C
{gn

0:018050¢5° RuBisCo ©5§y288" $0d 3Q) J8)6deb

111) Qaaﬁ‘*@w}_?c% - 3- uf;"";:gﬁ
V) @"’(%‘D)éaﬁﬁ DErIES

The correct combination 1s:
QB TS F¥Do)

Options:

L w1&ll

L v il & i
L w i &iV
4 ® i&iV

Question Number : 26 Question Id : 492863666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In Glycolysis, the sequence of reactions occur in the following order

AstodRe” 20h Hdge Bdoo

Options:
BPGA —» 3-PGA s 2-PGA — PGAL - PEP — Pymuvate

- BPGA —» 3-PGA'—» 2-PGA '—»5 PGAL - PEP ' 2838



3-PGA'—- 2-PGA'—» BPGA '—- PGAL —» PEP '— Pyruvate
, 3-PGA' -5 2-PGA' - BPGA -5 PGAL -5 PEP - 2&r38
2-PGA'—» 3-PGA' - PGAL —- BPGA —» PEP '— Pymvate
- 2-PGA -5 3-PGA' -5 PGAL 5 BPGA 5 PEP — 22&ra3&

PGAL —- BPGA'—» 3-PGA — 2-PGA—- PEP '— Pymvate
i PGAL -+ BPGA -5 3-PGA —» 2-PGA -5 PEP —

Question Number : 27 Question Id : 492863667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Glycerol. the breakdown product of fat enters the respiratory pathway after being
converted to

0306 STPgen Ao Dodm QHES EKEDID THE0D Srdod® AETHos” Wsod
Options:

Acetyl - CoA

Q28BS - CoA
1. ® e

Glyceraldehyde - 3 - Phosphate

ot - E L = :_J—ﬁ N =
- AJTQrd -3 - S
Pyruvic acid
WErDE edvo

3 ®

PEP
. » PEP

Question Number : 28 Question Id : 492863668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



8o (R):

Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(A) 508050 (R)Bods Hégsn 508050 (A)8 (R) 56808 586

Assertion (A) :

Reason (R)

QS0 (A):

1%

Measurement and comparison of the total plant growth per unit time is
not absolute growth rate.

The growth of given system per unit time as percentage of initial size 1s
called the relative growth rate

308 &° w8 PIresood” Judgo DGO Douododld Foden,
FOSen DoFd Dy Tew 5
w8 SgIRS” wf Pireseod” MG ol L0SraTerR) Fwf

S Se sotrd

Which of the following is true?

& 808 TS A0 HSgH0?

Both (A) and (R) are true. but (R) is not the correct explanation of (A)

o (A) 30050 (R)Bod» 38550, 52 (A) 8 (R) 96508 288

(A) 1s true. but (R) 1s false

- (A) Sgd00, 520 (R) edegidon

4

(A) 1s false, but (R) 1s true

. (A) 38550, 0 (R) &g

Question Number : 29 Question Id : 492863669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following

List-1 List-1I
(a) Spirillun (1) comma shaped
(b) Vibrio (11) helical
(¢) Pleomorphic (111) spherical
(d) Cocci (1v) elongated rods

(v) keep on changing their shape

808 TEI assSsos

erda - 1 e - 11
(a) v (1) s8¢ es57°80
(b) d@&> (i) OE ss5°80
(€) aFodrHEs (111) AeseSo
(d) &3 (V) &8Hd) Somen

(V) es°8o Srdnfootar Hoha

The correct answer 1s
50 Loy 2o

Options:

@ @® © @
L () @) @ (D)

@@ @® (@© (@
> x () (@O (i)

@ ® ©© @@
% () @) (@) (1)



@ b (© (@
) @ v

4.

Question Number : 30 Question Id : 492863670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Arrange the following steps in the order of their occurance in the Iytic cycle of a phage.
i)  Maturation phase

ii) Penetration phase

111) Attachment

iv) Release phase

v)  Biosynthesis

TFEOEE Lo’ 2R & 180d o SHSS eddyod
) 58sd

1) D384

1ll) o nIE o

V) ddode &%

V) 2330528

The correct sequence is
B DBS HEDEH00
Options:
| % 11, 1. 1V. V. 11
5 % 1.1 1V, V. 11
2 ® 1. 1. 111, V. 1V
4 o HLIL V.11V

Question Number : 31 Question Id : 492863671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The characteristic features of a plant with “Tt” are

1)  Itisa heterozygote resulted from a dihybrid cross

i1) It represents genotype

ii1) The hybrids contain alleles which express contrasting traits
iv) The two alleles are derived from the same parent

20 TtEORS Doof o (©H8gE wfearen

1) &CR0BS Do8Td” :3633 D20 GBS a0

1) 26 adog Srdrd) BonyHod

i) Dofderrod” P& ddwfdfonywr D) vETroi BeoYBob
V) Dok clwiidiomen of adfd ol ke

The correct combination 1s

QB DOFI gD
Options:
% 1&iii
. o il & i
5 % i &iv

. w il & iv

Question Number : 32 Question Id : 492863672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the dihybrid cross. the phenotypes are: round, yellow ; wrinkled. yellow : round, green
and wrinkled. green seeds. What is the probability of wrinkled yellow seeds in the above
Cross?

ECR0088 S80S Gyfgdrdren oo, HR0Y: S ddes, DR foo, i) So8ain
Snéden DG sBodd) IETe. DI BNI Jo8od” Jndden, DY o ATV
D0eTmdgd Jod?

Options:



4.%E

Question Number : 33 Question Id : 492863673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What 1s the corresponding sequence of mRNA when a polynucleotide template DNA strand
is 3'-TAC GGT AAG CGG ATC-5"?

DNA 50 $78&r86 Srddedos™ ghrdoardo 3'-TAC GGT AAG CGG ATC-5'
o5 % BB J0205305 MRNA ESrordo 28?

Options:

i ¢ 3'-AUG CCA UUC GCC UAG-3'

3'-AUG CCA UUE GCC UAG-5’

5“UAC GGU AAG CGG AUC-3'

. » 3 -UAC GGU AAG CGG AUC-5'

Question Number : 34 Question Id : 492863674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following codes for methionine and also acts as an initiator codon?

& HHS TBS A8 |PFoFFEmam HVDIT WHATINH pdo §FE Fdgod?

Options:



. » UAA

o W I_]I_]-[_I
- v AUG

. % UGA

Question Number : 35 Question Id : 492863675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Lac operon contains three structural genes =", *y’ and ‘a’
The structural genes code for

1)  The ‘=’ gene codes for beta - galactosidase enzyme.

i1) ‘a’ gene does not code for transacetylase enzyme.

ii1) The ‘y” gene codes for enzyme permease.

iv) ‘v’ gene does not code for the enzyme permease.

V)  ‘a’ gene codes a transacetylase enzyme.

o8 TR 3 AT T8 2dogHBS 27, Ty S8k ‘a’ EYYTryomw. & Aoy 8 2dgIe
oo 28

1) 27 adgd) P-mrofEiE JoBns dosdo

1) ‘@’ 28083 EWrQubidE JoRaod 080 57

i) %y 2gd) HB)SE JoFs Sosso

V) %y alogd) H0)00E Jogs Sosdo T

V) @’ adgd) Wra)endtd JoBZaos Sosdgo

The correct combination 1s

QB HOGH F¥oD)

Options:
1 % v, v

L w 1Ll i, v



o ox HLV.IV&I]
4o L&V

Question Number : 36 Question Id : 492863676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Single stranded strings of nucleotides that extend from the end of a fragment of double-
stranded DNA are called

Body e DNA podore D580 Hod PEACIDED JEDFSS ﬁf‘fﬂ Sr8BrSbods
DB 0EE?
Options:

Palindromic sequences

| x TOOEDE SEES0

Staggered cuts
THG DES

Cloning sites

Vo HhTen
Cohesive ends
. Hodozd Bden

Question Number : 37 Question Id : 492863677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Assertion (A) :  In gel electrophoresis. DNA molecules can be separated by forcing them
to move towards the anode under an electric field through a matrix.

Reason(R) : Thisisbecause DNA fragments are positively charged.

WSS (A): BS Qm@@"ﬁ&)ﬁeﬁ* DNA ee00:) Déogd Fgo Hod &8 wedodorr
©5E B SrBE Ko Edre0os.
820 (R): 28 DNA podaren §378)88 sodlo Iod.

Which of the following is true?
& 808 TAS® 26 DSgH0?

Options:

Both (A) and (R) are true and (R) 1s the correct explanation of (A)

- (A) 508080 (R) Bodor Héghn dcin (A)§ (R) D0g38 Jdde

Both (A) and (R) are true. but (R) is not the correct explanation of (A)
L« (A) 0005w (R)Bods d8530, 59 (A) & (R) 90508 256 5%

(A) 1s true, but (R) 1s false
v (A) B85350, 579 (R) eddghmn

(A) 1s false. but (R) 1s true

L% (A) 38550, 20 (R) g

Question Number : 38 Question Id : 492863678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



In addition to the production of high yielding and disease resistant varieties. genetic
modification has:

i)  helped to reduce post harvest losses

i1)  decreased the nutritional value of food

ii1) reduced reliance on chemical pesticides

iv) decreased the efficiency of mineral usage by plants

v)  produced crops that are resilient to environmental stresses

230g08IETr w0 BD JFgHRE Fgh ITEE Frod S BTENLDTE & §od
TES* B & thyhrisa?

1) Sobfd dogd Sire SHdesd

1) 5% a8 Jevde Shdos

111) SFrcE LTI JEso é@dﬁﬂ)é}

V) 3050 Pz odwre Frdio RS SHuk

V) Terdde 2888 SLRFI In¥ o 88

The correct combination 1s
A HOIH ¥

Options:

w1, (D). (1) & (iv)
L w (). (i), (iv) & (V)
3 % (11). (V) & (V)

4 v (). (i) & (v)

Question Number : 39 Question Id : 492863679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



With advancements in genetics, molecular biology and tissue culture the plant breeders are
trying to incorporate the attributes mto crop plants.

Indicate the correct attributes from the following.
1)  increased tolerance to environmental stresses
11) resistance to edaphic factors

ii1) resistance to pathogens

iv) increased tolerance to insect pests

BT Y, LEITY, Swerw oo YTREE HF DeIdw Dob Iwg ol DR
©oHoFrs0 DASre Doy TEd

& 808 TAS" 2D BBS ofeTren

1) TeSdon 288 SLRES Ko IS g

1) S0)85 850 ok PEFEES

1) g5 85w od HEEEES

V) S&8 Qo o8 SpEI FBgssn DowE s

Options:

| o L& IV

i & i

Question Number : 40 Question Id : 492863680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The bacterium that is commonly found in the anaerobic sludge during sewage treatment 1s
called

S0HHAE RS’ TroBdrd ol STrdos” FFEmorr Yok rsboiasioed

&
Options:

Methanobacterium

BT erE8oain
1.9 .



Staphylococcus

o & S5 S

Acetobacter aceti

PR “""’ﬂ—'.."‘ﬁ @il

Clostridium butylicum

ggf:jc.tf,u a0 eSOS

Z00l0gy
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 492863681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Identify the levels and hierarchy from the following i the classification of animal Kingdom.

a) Family
b) Class

¢) Phylum
d) Order
e) Genus
f)  Species

208> 5888d" H8od T8S' IS @oddo HHIEDr) HBotibhw
a) SodwoSn

b) degridn

C) DA

d)  ESo5

e) (DS
) =8
Options:

, x a>b—=c—odofoe
, x d>c—o>b—sa—sfe
2 o C2b-d—sa—se—>1

s a3d—sc—obofoe

Question Number : 42 Question Id : 492863682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following method does not represent the in-situ conservation of biodiversity

Bod T8S' A& dFaFS DodEs Dou0doRSs 5%

i L

Options:



Sanctuaries

E-e;foﬁsw:ﬁzmgm

Biosphere reserves

. x SSFY $688 Boren

Gene banking

v 23:635 errgo8oen

Sacred grooves

L% FES Saren

Question Number : 43 Question Id : 492863683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following

List-1 List-1I
(a) Chordata (1) Acoelomate
(b) Nematoda (11) Schizocoelomate
(c) Mollusca (111) Enterocoelomate
(d) Platyhelminthes (iv) Pseudo coelomate

Bod T 28HEB0s

erde -1 arde - 11
(a) sQir (1) #5888 Girgsn
(b) d&E (1) Defg 68 BTrddw
() Hooar, (111) eso ¥68 &S0
(d) FET0ES (1v) Dogrg #0686 Borddw

The correct answer 1s

08 oK =D

Options:



@ @ (© @
Lx (D (i) () (1)
@ @ (© @
> (1)  (v) (1) (1)
@ @® (© @
e @) (i) @) (i)
@ @ (© @

L. ) @) Gi) 0

Question Number : 44 Question Id : 492863684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following
List-1
(a) Kidney shaped nucleus

(b) Large spherical nucleus
(c) Bilobednucleus
(d) Multilobed nucleus

808 TEY 2EHEBob
e -1

(a) Sormghod ess*ESn

(b) g Sobcdn Moo

(c) Bo wodiwo BDAS

(d) 2805 wodden EOAS

The correct answer 1s

00 00208 2372

Options:

@ ® @© @
e ) @ @ @)

@ @® @ @@
v (1) (v @) (1)
@ @ @© @@
. x (V) @) @) ()

@ ® © @
L) @ GE) G

(1)

(ii)
(iii)
(v)

(1)

(i)
(111)
(1v)

List-1I
Eosmophil
Monocytes
Neutrophil
Platelets
Lymphocyte

Jg DO8e0
doar e



Question Number : 45 Question Id : 492863685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Trilobite larva 1s present in the development of

o0 Ei)éﬁ;@}ﬁ* E@“@ﬁ S0l ehotad

Options:

Scolopendra

| % 09,8 woE

Limulus
&S50 NI

>

Palammnaeus

z ®
Palaemon

, & TOSPS

2500500

Question Number : 46 Question Id : 492863686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Statement (S) :

Reason (R) :

g (S):

3o (R):

Symmetry of an organism is determined based on the symmetry of the
early developmental stages and not that of the adults.

Bilaterally symmetrical animals are more efficient in seeking food, locating
mates and avoiding predators.

=8)

&oard)g Dad zohHeo eF388 éa’ni‘}"g;“éﬂi oL IN I8 S0,
PEE £2Jo ok S0 IES” 8N Jddgdodorm

ot oW

Which of the following is true?

& 1808 TS B 807



Options:
Both (S) and (R) are true and (R) is the correct explanation of (S)

, % (S) S080i0 (R)Bodr déghon So8adn (S) § (R) 085308 D&

Both (S) and (R) are true. but (R) is not the correct explanation of (S)
_ o () 300050 (R)Bods 53550, 50 (5) & (R) 5058 IS8 S

(S) 1s true. but (R) is false

- (S) 8&gd0, 570 (R) evddgbm

(S) 1s false. but (R) is true
L (S) ed8gdm, 50 (R) d&ghw

Question Number : 47 Question Id : 492863687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one the following characteristic features of Frog is similar to Tiger

& 1Bod oot B3y ofpdn DO B0, ogpdnd FO ook
Options:
Cutaneous and bucco-pharyngeal respiration

|y SO0 Bo0o0 wibg-(id T5eEes

Three-chambered heart
3 Koo ‘JJ"QCS oS00

Dicondylic skull

35°0B05 B
3 0 &7 0595 2K

Poikilothermic animals

ISwPE soduhen

Question Number : 48 Question Id : 492863688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

‘Sternum’ also known as ‘breast bone” first appeared in which of the following animals
“ﬁrﬁir’ﬁ”:‘?} 58 AB0ET Brm w6 otrdh. 20 BEHor J EYhos’ ﬁfﬁg&éﬁ&
Options:

Pisces

| % DI

Amphibians

OV SINTOLL S
o o

Reptiles
560y en

Birds

Question Number : 49 Question Id : 492863689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following has ATP-ase activity in flagella

& (808 QIS TES* Ergins® ATP-GBof w8y $0n56
Options:

Tubulin

mga}:@ﬁ

Kinetosome
33D

Dynein arms

, BN rTvHeo
S



Actin

‘rf!gﬂ
an

Question Number : 50 Question Id : 492863690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Choose the correct statements with reference to flagella

a) Do not unite to form curi

b) Foundall over the body

¢)  Perform undular movements

d) Perform pendular movements

Egroty dowoRodd DB J“gmg@&‘b 158 028k

a) ETerod O JPOIT JIBED

g &

b) %88 &L8fudodir ok
c) =2 Soll JoTQ) \EGTon
d) 22 Sfd SOTQ) DE0):

Options:

, % a&d

2_‘&?3&(:

2 % b&C

4 % C&d

Question Number : 51 Question Id : 492863691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following

(a)
(b)
(c)
(d)

Sod

List-1

Nocturanal periodicity
Extra intestinal migration
Schuftner’s dots

Tetra nucleate cyst

TR 2EA8dodk

e -1

(@) JTso wigdo

(b) erSsgold Sed

(€) 2558 ¥ e

d) wsaiposs S0

The correct answer 1s

D8 BoN 2o

(@ ® (@© (@
L ow (i) () @v) (1)
(@ ® (@© (@
. w (v) (i) () (i)
(@ ® (© (@
s @) @@v) @) @)
(@ ® (© (@
L @ G  @®

(1)

(1)
(iii)
(iv)

(1)
(i)
(iii)
(iv)
(V)

List-1I

Entamoeba histolytica
Plasmodium vivax
Wuchereria bancrofti
Ascaris lumbricoides
Taenia solium

e - 11

dobroer rYPBUs
T Bado 7
50803 rolFTR

B 00 00o@57awad®

Eoir PO



Question Number : 52 Question Id : 492863692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following

List-1 List-1I
(a) Ectoparasite (1)  Ascaris
(b) Hyperparasite (1) Entamoeba
(¢) Coelozoic parasite (111) Leishmania
(d) Histozoic parasite (iv) Nosema

(v) Head lice

Bod TBI adHS[s

e -1 erder - 11
(@) erdrg HoPd)Ed (1) ea708
(b) ©§30°%)2D (i) Sodrdoer
(€) %58 Ho78)ED (iil) darydos>
(d) Seozro STdRED (iv) S*dS-
V) =&

The correct answer 1s

50 od =aTren

Options:

@ ® (© @
o () @) @

@ ® © @
v VM @) (1) (3D

@ @ (@ @
% (1)  (v) (1) (1)



@ @® © @
4 R vy (v) (1) (1)

Question Number : 53 Question Id : 492863693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following

List-1 List-1I
(a) Morphine (1) Atropabelladonna
(b) Hallucinogenic (i1) Erythroxylum
(¢) Cannabinoids (111) Papaver somniferum
(d) Cocaine (iv) Cannabis sativa

Bod B wEHEBs

e -1 erder - 11
(a) 50y (1) o'y B
(b) FedITEIS (1) 28 EBwo
(c) Erdrond) (1) J>rS56 FAywdo
(d §33 (Iv) E5S JBa

The correct answer is

D8 o0 23T

Options:

(@ b (© (@
Lx () () @) (@)
(@ b (© (@
, o i) @) (v (i)

@ ® © @
Lw @ @ GG



@ @® (@© @
L @) () @) @

Question Number : 54 Question Id : 492863694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The following schematic diagram represents the labium in the mouth parts of cockroach.
Identify A. B.C and D

& S0 Sbdw eﬁ‘-“%oé oed oo Fo0S ety Srdotihtn. & SHLdostR
A B, C358a0 Dedo hlothbn

A

Options:

A-Submentum. B-Glossa. C-Labial palp. D-Palpiger
ANDSIooda, B-:T%‘* , Ce0858 ﬁ;jﬁ‘jgu o, D-ﬁ*@gaﬁ &

A-Labrum. B-Palpiger, C-Glossa, D-Labial palp
A-L.350. B-ordy28, CTar, D-oid Syooiio

A-Palpiger, B-Glossa. C-Mentum, D-Labial palp
A-ﬁ‘*@ge&& B-ﬁ_:o::."" C-3botm0, Desid ﬁgﬁ;uﬁu

A-Mentum. B-Palpiger. C-Glossa, D-Labial palp

, AJoodod, B-ﬁ’@gzsﬁ. C-ﬁ:ﬁﬁ D-e058 K}Jﬁj’;uﬁu

Question Number : 55 Question Id : 492863695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Identify the sequence of circulation of blood in Periplaneta americana
a) Head sinus
b) Heart

¢) Pernivisceral haemocoel and sternal haemocoel
d) Pericardial haemocoel
e) Aorta

DOFIEr D05 T SERVTn ITHoSV DO SHDESFV) Ha8owrksn
a) dofLdo

b) #0@

c) Dorgodorod SERTESL Dbt &dd dol TESTdsw

d) “m;}eéoﬂr;ﬁcﬁza S Peple bt

€)

Options:
, s ¢c>b—>d—oe—a

TS HQ

%"\

. x b>e—>d—c—a

v a—c—>d—-b—e

4% a2Cc—ob—>d—oe
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Statement (S) : The corpora adiposa cells perform ‘storage excretion’ in Periplaneta
americana

Reason (R):  The fat body contains urate cells which absorb and store uric acid and it 1s
the major excretory organ

g (S): DOFIEr @F057T S FTEYT JETFrS' fmreo Jog YD
QST RR00.

80 (R): FYg BFf0 o dSarBE §earenod ¥ dirds BIrA) Fhedn 20w

QO IWF00 08050 IDYSS® Sopg @I0HISMT G

F

Which of the following is true?
& 808 FAS® A& JSgH0?

Options:
Both (S) and (R) are true and (R) 1s the correct explanation of (S)

o (S)®0oms (R)Bodkr 855w 508050 (S)§ (R) 968 56

Both (S) and (R) are true, but (R) 1s not the correct explanation of (S)
. % (S) Ho8cio (R)Todr D50, 520 (S) 8 (R) D05308 Db 5o

(S) 1s true, but (R) 1s false

Lo () 8853, 50 (R) ebsg

(S) 1s false. but (R) 1s true

. % (S) eddgsdm, 50 (R) d&gdw
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Correct: 1 Wrong: 0

Abingdon tortoise in Galapagos islands became extinct within a decade after goats were
introduced. It 1s an example of

moFiR BiFreod’ JDOAES a8y G7usre0d” @odloldFHLt sndn & irod
Bobos DL, 26 B8 STHELS

Options:



Competition among unrelated species

o Sﬁﬁnfrj_ LTSS ;’ncﬁg a"}"’éﬁée“éogo

Competitive exclusion

- FEES00 ST 00D

Competitive release

_ x TESE; dsSe

Coexistence better than exclusion

. DodTFowos) ol DrESSB0 Do

Question Number : 58 Question Id : 492863698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
‘Gemmules’ are related to

“Bhargdy” B8 D000
Options:
‘Endosmotic bodies” produced in some fishes to withstand the salt water in sea

| x T8 QBS” o Prad) SpFHLE IGES 2odd ETPdde JomEreo

> R

Aglomerular Kidneys i euryhaline animals that help m adjusting the changing salinities
in the sea

CBr8Tr8e EPo 0ot DINEeS® Srdéd) ol MmEdeD J500T JEsiTds
RIS Sar@women
3. v

Asexual reproductive bodies produced by freshwater sponges to tide over the
unfavorable conditions of summer

Qo 0od’ Ha8Sre JHlodge Lok i FdSn HodlE SozEer ISEHEI

©BohE &S Joyeren



‘Gelatinous cocoons’ that protect during winter in some terrestrial animals

Frdd dPod’ 5w’ §Ed b»’ﬁ&d‘io e Swg §en
4 ®

Question Number : 59 Question Id : 492863699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Van't Hoff"s rule states that

ol

e

S50 drE@gdn T Srdodhd

Options:
1. %

With the increase of every 10°C temperature the rate of metabolic activities become
half

pSLE 10°C ﬁasjr;[_ﬁé i a%:}@oﬁjb’éém T 5 e:amra:
o %

With the decrease of every 10°C temperature the rate of metabolic activities doubles
8 10°C &is 808 £38a5r8in BodHd

= v
With the increase of every 10°C temperature the rate of metabolic activities doubles
8 10°C &ES 0B E58asrdtn BEobKd

4 %

With the increase or decrease of temperature there is no change in metabolic activities
&IPS 2OAT BT ShT EIFATBLND oS0l Sy Gokdd

Question Number : 60 Question Id : 492863700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Following statement holds true for “Cori cycle”

80 Je00irds Lowofold DOD J“gspgéﬁj 158 0wda50

Options:



Glucose to lactate in Liver and Lactate to Glucose in muscle

sr8gihod E’ﬁ;ﬁ:?ﬁéﬁja& u*?é.'i_& Sobodn oddos® @?5 Sood E’i:fg‘ﬁ Eﬁ;&?d:;&

1%

Glucose to lactate in muscle and Lactate to glucose in Liver
o 50880C ArE'E Kook «r§iE Bododn 58000’ 38 S0d KATFE Sorddy

Glucose to lactate in the stomach and lactate to glucose in the intestine

, ETI00S KrEE ool o8 Hdodn e Bl Sood ArEE Sy
- .. X 3 -

Glycogen to glucose in the Liver and glucose to glycogen in the muscle

580008" A= Dod ATEE B0k Sokdos® Krs'E Sod AFaS S8y
4. @ ar o3 o2 e

Question Number : 61 Question Id : 492863701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Total Lung Capacity (TLC) can be calculated by the following

T8 YRS Fo ggm:: (TLC) &0 & 1§08 d0E8km oo B8 odSwyEo

Options:

.« ERV+RV
.« TV+IRV
. v ERV+IRV+TV+RV

, » TV+IRV+ERV
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Match the following

List-1 List-1I
(a) Atria (1) blood pumping chamber
(b) Myocardium (11) blood recetving chamber
(¢) Coronary sulcus (1) Heart wall
(d) Ventricle (iv) Atrio-ventricular groove

Bod B aEHE[0s

erda -1 e - 11
@) Bos> (1) 6520 BoboB 885
(b) Sy Eodd Sodkgsn (i) o8 o8 €43
(€) SmysaH PSS (iil) Smysa 7
(d) =588 (iv) AEBr-Jodogers m&

The correct answer is

58 oS 2ara

Options:

@ ©® © @
L) G @ @)
@ ©® © @
2w (i) @) G G
@ ® © @
cx @ G) @ (D
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px @G G G
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Correct: 1 Wrong: 0
Which of the following pathway converts ammonia into urea in ureotelic animals

IHrOBrHOS LHhoe® & Secho TGO W3 ASST RO Sordn B ot

Options:
Ornithine cycle

L @@155 Hedio

TCA cycle
> % TCASoodho

Cort cycle

3 % 506 Sedio

Nitrogen cycle
L% I e Hwodo

Question Number : 64 Question Id : 492863704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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In humans which one of the following pairs of ribs are called floating ribs

IrIYVS” & §ohH TBS” JIE HEyso 2dew 2

Options:
1%t to 7t pairs

| % 100 Taden

8% 9t and 10% pairs

, % 8 9%000ho 103 adw

11% and 12 pairs

5 o 118 S00cin 1235 aden



Last five pairs

4 % WIO S 2den

Question Number : 65 Question Id : 492863705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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In a car accident. a person lost the speech and is unable to swallow the food. What could be
the reason

2.8 é-’}g_éa 58 (PaArdoS” SrddGrSdo Hbadn eFtEhn DoohSa ?{\3@ Dﬁ&fﬁéﬁ&. &8
58k

Options:
Abducens motor nerve was damaged

. % var W) TOETE BEFNE0

Vestibulo-cochlear nerves were damaged

. JPe0gS -5mEdird TG BAFIGO
2. x o

Hypoglossal motor nerve was damaged

2 @ ”;5‘!’.}"-5 udTs Toiad RGPS

Trochlear nerve was damaged

L% wodrdad d&DFSdo
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Match the following

List-1 List-1I
(a) Pituitary (1) Calcitonin
(b) Thyroid (11) Epinephrine
(¢) Pineal (111) Vasopressin
(d) Adrenal (iv) Melatonin

Bod TBY 285856

oo -1 e -11
(@) SHa%ed @Wod (1) 5T
(b) Borow& Hod (i1) 935S
(€) 2SS Hod (i) TRV
(d) =858, Hod (1v) Joods*da

The correct answer 1s
50 ®oND 2arew

Options:

@ ® (@© @
L (@ @) () ()
@ ® (o (@
> (1) (1) @) (@)
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.o ) (@) av (@)
@ ® ( @
4 % (V) (i) (in) (1)
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Correct: 1 Wrong: 0

In the following schematic diagram explains the mechanism of cell mediated immunity
where an Antigen Presenting Cell (APC) is interacting with a T-helper cell (Ty). Identify
X" and “Y" 1s this diagram

Se0 S0 & AT PESK D0w0oRS diroErorrd) & §od DLdw DH008. BIS

28 238 SDBE gaddw (APC) T-05%05% 825708 (Th) S, & Sdns® X Hdosw
Y od hBothdn

Ty cell
Ty S0

Microbe

Antigens TCR
(D8a3:5men

Options:

| % X-MHC-I: Y-CD4
, » X-MHC-II: -CD4
. % X-MHC-II- Y-CD8

. » X-MHC-I-Y-CD8
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In human male reproductive system. identify the sequence of passage of spermatozoa
a) Seminiferous tubule

b) Vaseffentia

c¢) Urethra

d) Vasdeferens

e) Rate testis

f)  Epididymis

g)  Ejaculatory duct

L.

h)  Vagina of the female

ArIYV PER REgEG DgHRS” DESTrY Rodre V0N HrTd) ot
a) HEFEE T

b) HETE0

C) Bwgsn

d) DEog

e) 08 ook oo

f) ADABDD

g $od TFw

h) Lﬁ B FEH0

Options:

, » a>b—oc—>d—oe—sf—>g—h

, x doe—ocoboa—-sh-ot-g

2 v d2e>boaf>dog—>c—h

,x I2e—>g—oh—-sa—-sb—oc—d
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Aminocentesis helps to detect

GBS 568 BA KHBoHLE BIPHDBE0

Options:

Infertility

Km@ﬁéﬁﬂn"régm
1 %

, » AIDS

Cervical cancer
o (oydes S0pmss £°55)5
Prenatal test to detect genetic disorders
- AGE 3DHS” adoges o L0 D IS0
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Match the following

List-1 List-1I
(a) Downsyndrome (i) Trisomy of 13% chromosome
(b) Edwards syndrome (1) Partial delection of short arm of
chromosome 5
(c) Patausyndrome (111) Trisomy of chromosome 21
(d) Cri-du-chat syndrome (iv) Trisomy of 18% chromosome

B0 T wBEHSTok

e -1 e - 11
(a) &FS VoE (1) 135 3" BT
(b)) e doEw (i) 55 F'IrEHo0s® Q) erFoHo o
FIhPHb Jod
(€) J& Do (1) 2135 £35S BT
(d) STl DoE w0 () 185 53w B

The correct answer 1s
50 2008 2T%ew

Options:
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Question Number : 71 Question Id : 492863711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following

List-1 List-1I
Blood Group Clump formation with
(a) AorAB (1) anti B serum
(b) BorAB (1) anti A and anfi B serum
(c) AB (i11) no clump is produced with either of
the (A or B) antibodies
(d O (iv) anftiAserum

Bod B 2SBEB0s

erde -1 erda - 11
g8 Q%o m:fﬁthgﬁzaﬁw
(a) ASwm AB (1) oSro8s Bd&o
(b) Boo AB (i) oS0 ASB8osn osro®d Bhdoen
(c) AB (iii) A Sz Bove padstes’ ﬁa%éésa 2SR EFHEL
(d O (iv) odrodd Addo

The correct answer 1s
S50 Loy 2%

Options:
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(@ ® © (@
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Question Number : 72 Question Id : 492863712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following
List-1 List-1I
(a) Hyperkaratosis (1) Sex-mfluenced inheritance
(b) Hypertrichosis (11) Sex-limited mheritance
(¢) Beardinman (i11) Y-linked inheritance
(d) Baldness in humans (1v) X-linked dominant inheritance

§od TEY uSHEBes

e -1 arde - 10
(@) 96 BEEHD () ©ok-Perds wHSosds
(b) 56 BERS (i) ©oK-50208 ©SoH03ES
(€) PODoS® Hgton &KL (i) Y-0ored) osobossd
(d) SrSHNS* wLido (1v) XS5 o) 2irdd edodolsd

The correct answer 1s
0 Loy 25720

Options:
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Question Number : 73 Question Id : 492863713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
Which one of the following application is not related to DNA finger printing?

DNA 2088 2080l edddaos® 305708 2672
Options:
Inheritance pattern of gene through generation

. DAl doredst 2.8 232‘5055’3 DoEDoT AP HHN

Study of ontogeny

- 50 B @cﬁgoﬁnéé;’na

Establishing paternity/maternity more accurately

2 % Lé&@:@ﬁ‘) / w@-’;}@“ﬁ@l s:,::ﬁtnéuﬁ“ @D;:ﬁuiﬁj@

Protection of Endamgered species

4 % D0 EI SodEe

Question Number : 74 Question Id : 492863714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
Experimental verification of chemical origin of life was successfully proved by

ool BTG B8 PAFTR) J2ofSoSoT JErDoRIBBE
Options:
Louis pasteur

a
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Charles Darvin

5 R T@E FB‘SE

J.B.S. Haldane
JB.S. 5588
= W =1

Urey and Miller

O30T S0dcin ded
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Question Number : 75 Question Id : 492863715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the sequence of evolution of Homosapiens
a)  Rama pithecus
b)  Homo habilis

c) Homo erectus
d)  Australo pithecus
e) Homo neander thalensis

f)  Homo sapiens

d)  ege 5985

€) I JASESE TEYS
f) S Db

Options:

, # a—-b—osc—-d—ose—f

sva—ad—oboac—oe—t
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Correct: 1 Wrong: 0
Match the following

§od TBY uSHEB0s

List-1 List-1I
arde -1 erde - 11
Graph Type of phenotypic distribution
s SSepdsmen
(a) (1) Directional selection

STodndgd 280

(b) (1) Stabilizing selection

%6559& S8e20

(c) (111) Disruptive selection
QG 280
(d) (iv) Newly evolved population

Fdmr S0eordoo Bold esarer

The correct answer 1s
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Options:
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Correct: 1 Wrong: 0
In MOET (Multiple Ovulation and Embryo Transfer) at what cell stage embryos are
recovered non-surgically and transferred to surrogate mother

wdod wofd)do, Dod 28O FosssES” DEe BIS° &d) oo IPNEGHBI Igrso

k=4

(nyey NEB0D HPBD KoFoLSwS A8 SorHTd
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Options:
% 6-8
o W 8 = ].6
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With reference to ECG. match the following

Set-1 Set-1I
(a) Enlarged Pwave (1) Hyper calcimia
(b) Prolonged Q-T mterval (11) Tachy cardia
(¢) Prolonged P-R interval (111) Brady cardia
(d) Shortened P-R interval (tv) Myocardial infraction

(v) Enlarged atria

ECG & $02000008 ol T8I 2858808

erder | arfo 11
(@) 2845 P&sonsn (i) 56 5&)ocse
(b) Q-T soio DBAB (i) &r8sgodir
(¢) P-Rgdoio 20ad (iii) @rés Qo
(d) P-R&dofko $59,38 (V) SoBrsgond 2SS

(V) 20A8 808en

The correct answer 1s
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Options:
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Correct: 1 Wrong: 0
C peptide 1s mainly present in

g

Coé 3IS" Sopgorr Gotod

L}

fi

Options:
Proinsulin

Lo & 2:0)O

Insulin

5 % ‘E«".?fk?j@ﬂ

Cham A of insulin

L« RRQOS EoE, A R0

Chain B of insulin

L 2500 GB08), B Fendo
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Match the following
List-1

(a) Carcinoma

(b) Sarcoma

(¢) Lymphoma
(d) Leukemia

o B 2dHEHos

e -1
(@) 583 &
(b) &8 &
() Ooysr
(d) eog8dass

The correct answer is
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Options:
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. (i)
(@)
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(b)
®
(b)
(1)
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(b)
(i1)

(c)
(11)
(c)
(1)
(c)
(1)
(c)
(1)

(d)
(111)
(d)
(iv)
(d)
(iii)
(d)
(iv)

(i)

(i1)
(iii)
(iv)

(1)

(i1)
(iii)
(v)

List-1I

B and T Lymphocytes
Connective tissue
Bone marrow cells
Epithelial tissue
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Question Number : 81 Question Id : 492863721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the Set-I with Set-II

Set-1
(a) PLANCK
(b)y LIGO

(c) Large Hadron Collider

(d) ITER

(d) ITER

The correct answer 1s

N8 WoN 2o

(1)

(i)
(iii)
(iv)

(i1)
(iii)

(iv)

Set-11

Gravitational waves
Nuclear Fusion
Radiation from Big Bang

High Energy / Particle Physics
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Options:

(a) (b) (c) (d)
,ow (1) (1) (11) (1v)
(a) (b) (c) (d)
, % (1) (1) (1) (1v)
(a) (b) (c) (d)
5 x (11) (1) (v) (i)
(a) (b) (c) (d)
4w () (1) ) (1)
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Correct: 1 Wrong: 0

Which of the following physical quantities set has different dimensional formulae

Bod adgdS FT°8E oo HGEST T IH W8 Fren o T
Options:
Angular Impulse, Planks constant, Stefan's constant

. §edoh (D TES80, Fof Jorodsn, RIS [oroEEw
1. b - -

Energy density, Wave Intensity, Stress

¥8 o dd, ok 81, Penedw

Radius of gyration. Angular displacement, Rydberg constant

FEAS g0, S'Boh PEodsn, BG0E PorogBn
a & o 0 @

Velocity gradient, Acceleration, Gravitational Potential

SN (Ddeads, Sedeadn, S FTICHS
4. o
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The equation of motion of a particle is given by x(7) =21 *+¢% +4¢t . Then the average
velocity of the particle between the time =3s to t=5s is

2.8 e HHos dAoEGwo -1‘(T)=2T3 +12 + 4 R300BIH. =35 H000i0 =350 kg
e Eeod) Hiidw 3o

Options:
. % 100 m/s

. o 110m/s
- % 90 m/s

4 » 140 m/s

Question Number : 84 Question Id : 492863724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Consider a ship traveling due east along the equator with velocity v,. If southeastern wind
blows at an angle of * ¢ "to the equator with velocity “v’. the wind velocity relative to the ship
v’ and the angle between the equator and the wind direction in the reference frame fixed to
the ship are

grogy O Joad SrENGIS’ a8 T35 VpIod® KPasrediiyod. ey Bpd ‘¢ o’
Fea- Sty B3’ HISE 'V Ios® JDEYE, TEHBorT HHSSHo V' HBoin Frdgiai,
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Correct: 1 Wrong: 0
A cannon ball is fired from a building of height / at the sea shore with a velocity v at an
angle of orupwards from the horizontal, T"II‘UEIjIIE a ship at a horizontal distance of S from

the shore, as shown in the figure. If “g” denotes the acceleration due to gravity, tan o
governed by the quadratic equation is

28 DEoh 208 JHNEETAE h IHKe FSdow Dod V Ios’ §82 JdrodTE a

Sdng® 880 $ood S 88z Jirodd $r8od’ fo Tk KBUrd W THh. g ©Is
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Options:
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—IHI]{I+g—2:{]
| % 2v s 2v
gs h g5
tan o——tana+—=—=0
” % 2v° 5 2v
gs gs h
— B
. % 2V 2v: s
gs gs h
—tana + —-—=1

2
Lo 2V v s
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A girl throws a stone horizontally from the roof of a house 12 m above the ground with a
speed of 15 m/s. Neglecting air resistance, the time it takes for the stone to reach the
ground is

o8 8 P o0d 12 m IS e R0odl » ééj 00d §8addrosdor wl o
15 m/s 3&6S° 0088, md JGFSn BEEF 0D, & Tron 2rdd BIEIS SR 5700
Options:

| v 135 sec

. » 3.1sec

5 » 2.34 sec

4 » 410 sec
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A rocket 1s about to launch upwards from its platform. The engine ejects gas at a rate of
2100 kg/s and the molecules are expelled at 50 km/s. If the above condition 1s just sufficient
to make it rise upwards. the mass of the rocket 1s

(Assume g = 10 m/s?)

28 I0ED So0b P BIST J0DErIE ¥ TU8E o edh. T dfo@dw 2100 kg/s
Send’ o Hodosw wewHedo 50 km/s & wofhisds Sobds. & Jwods SSwo o8
IHGETIE HOFB, T8 |Kdgoe3

(g = 10 m/s? o387 S5050)

Options:

12.6 x 10° kg

1 %

, x 15.5% 10°kg

2 % 9.8 10°kg



< 106
, » 105 10°kg
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Three blocks A, B and C of masses 1. 2 and 3 kg, respectively are attached as shown in the
figure. The force of 30 N 1s applied to the block A so that the system as a whole moves to
the right with constant velocity v. There exists friction between the surface and the blocks.
Then the contact force exerted by block C on B 1s

§ob SLo® drbdagon 1, 2 Sobokn 3 kg (@hgorden fo A, B Hddin Ces 83 e
BOQTH. &8 B08D0 :&55@ o0& FS® o8 ] Sifo V& Sdentosy Aed o3y 30N
20e7Q) BAEFANT . S8 ANt DPgode wotwod. C ady B &) 2 §0n03

©—

NHweo

3kg

30N

Options:

; » 4N

8N

o R

. x 12N

, v 15N

Question Number : 89 Question Id : 492863729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Consider a 50 m high water falls. with water flowing at a rate of 1.2x10° kg/s. Using the
power generated due tfo this process, assuming 100% efficiency. the number of 60W bulbs
that can be light up is

50 m 8y Ko zoddos® 1.2x10°0 kg/s Bend® It HHTmH08. & HEH Ho 2ol
Fdoggon tHdriod JQ) 60Waayodo 30hoksdnko (5o d5d 100% wko8 E0skw)

Options:

v 9.8 %106

o % 5.88 x 108
. % 9.8x10°

, » 1000
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Assertion (A) : In analysing the problems of inelastic collisions. the law of conservation

of momentum and the law of conservation of mechanical energy are to be
employed

Reason (R):  Since the laws of conservation of momentum and mechanical energy are
fundamental laws, they should hold good in any situation.

QHSI0 (A): oRBTBE wPHrddne ddgod JFaoRLYE (BIg3H IS0
000 ciro@8 #§ Adgde Jovgrodn Trdedd

580 (R): $Sg3N QeFgesg Hoda¥w Sro| 88 ¥8 JSgEs S (FEFAE
SrEoNody B N éoé%éﬁw@*@a‘“ 2505870

Which of the following 1s true?

& 8ol TAS® A& SBgH0?

Options:

The (A) 1s correct but the (R) 1s mcorrect

) (A) 203088 570 (R) 2053088 57
1,



Both (A) and (R) are correct and (R) 1s the correct explanation of the (A)
) (A), (R) ok $8a0&3S, (R), (A) § 888308 D8 2:d30d
2

T W
Both (A) and (R) are correct but the (R) 1s not the correct explanation of the (A)

(A), (R) Bodr £$853083 571, (R). (A) § 205308 dd8e 570

Both (A) and (R) are incorrect
. (A), (R) Bodor 28530850 529
4
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A hardboiled egg (H) and a raw egg (R) are both spun on a flat table. They are stopped
momentarily and released immediately.

Which of the following statements is correct?

o8 &E5BES 1Q Fadacy (H) $odcin Swé §ahd (R) 300l ol ddde aew
8B, E8gorr O B Iobd GTH
§0d TAS* Q VHGEB0 SOTSH?

Options:
(H) remains stationary whereas the (R) starts spinning again

L (H) Qo ook, (R) o8 88Kd0 |r8ofnod

(H) spins again whereas (R) comes to a stop

- (H) So80 8siédod, (R) shdrasod

Both (H) and (R) come to a stop
- (H) 308050 (R) e 3o eshi¥raron

Both (H) and (R) spin again
. % (H) 508030 (R) en Bodsr ode &Sibnaron
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A turbine requires 10 sec to go from its idling speed of 1000 rev/min to 2000 rev/min. The
number of revolutions it makes in this period 1s close to

w8 L6Bx TR W0 $& 1000 rev/min Sood 2000 rev/min $&8 FSeds 10 sec e
HEB08. & oS’ b Rodw Pherre dopg 0SeSm

Options:

v 250
o W 3].?

T W 28?

. % 1035
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A spring stretches by a distance x when a mass m 1s hanging from it. If the spring undergoes
simple harmonic motion when a mass 2 m is attached to this spring, then the period of
motion is

m ST w8 (@)ohss IerdbRsHd, & PYef x Srord Fhdob. & Eyohis 2 m
BSgoIR BODIYE, @ ()0l JEETT )8 Fodo Boddhod. Y & FIod eIHDW

Options:




X
I =
4
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Consider a space ship launched into a circular orbit close to the earth's surface. If the

. - : [y M [2yM e
orbital and escape velocities are given by vy = % and v, = ‘;E . the additional

velocity to be imparted to the space ship to overcome the gravitational pull 1s

o ed880rE SHET God 5TE8 85578 o8 S E0TESD Sobvdard. o §8°8

2yM

[y M
08051 HorcHS Amen [ Vo= % S08asn V, = QUM Q20 GI.
a8 oriady aom) BR0BIBI0T, & o JTE QIO @&IY Ko

Options:

;f;‘;f (sﬁﬂ)
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Elastic stramn energy of 10 J is stored in a loaded copper rod of cross-sectional area
2 %107 m” and length 0.2 m. The Young's modulus for copper is 125 GPa. The load on the
copper rod in kN is

02 m e Hocko 2x107'm’ SoEgHE Jrogo EOA, o S8 b ooh §§s* 10T o
2BTHE DEYB ¥§ HoVSBYH08. T 00f Hee¥o 125 GPasans, ooh 4D SchS5dDS
8o kKN o&?

Options:

, % 16

o % 30
T 40

4 50
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An aeroplane with wing area 100 m? is travelling in a level flight at a speed of 800 km/h.
Using sensors placed on the surface. above and below the plane. it has been deduced
that the speed of air above is 10% higher than that of the below. Assuming density of air to
be 1.5 kg/m’. the mass of the plane is

100 m*38), Brrogore o8 SrSSn 800 km/h S&8° §8a SSrodbomr MOS® Hasrainos.
DEPSH P 005 0B GHBSErOS BIEH SHRPACD DEFEY P TSR O
56 o Bod erifod’ MmO S&Eod 10% I8y S Gdin Bond. md od 1.5 kg/m’
oFod, JSrSBS5o°e

Options:
. S0 ton

>« 14 1ton

5 » 100 fon

4 % 60 ton
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Two metal plates each of dimensions 20 cm * 50 cm and thickness 2 num are soldered
together as shown in the figure. Let the first plate P; is at 100 °C and second plate P, 1s at
—10 °C. If the thermal conductivity of the two plates is K, = 44.6 W/mK and
K,, =554 W/nK. then the heat flow through the plates at the soldered junction is

20 cm x 50 cm S8 &oreadoe H0d8cs 2 MmN Hodhaw de Body &%) dofod o’

=
Y

SrDd o Loghn TP, Inde Ho¥ Py, 100 °C 3¢ Hodosn JwE Py, —10°Co

£A

g aT)000. Doy Jeodv ﬁ%ﬁ“&ﬂééﬁg;’m&ma HE_m Kp1 = 44.6 W/mK S28c30

K,

=554 WK ©o08, wogdod & dode opor @50 Qoo

b

P,
Pl'i %
50 cm ’
Z
7%
Z
?
. &
! / Z
H
€, &
-
. 136 kl/s
. % 113 Kkl/s
.« 95kls
4 % 100 KJ/s
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Two identical shaped metallic spheres A and B made up of same material of mass ‘m’ and
‘4 m’ are heated to attain a temperature T; and then they are placed in a container maintained
at temperature T, (T, <T,). The spheres are thermally insulated from each other. If R is the
rate of change of temperature, then the ratio R, & Ry 1s

G503 ‘M’ 080w ‘4 m’ © Ko Bod 28 IGS e5dhn DA &8 HTrgRnd Boads
Feren ASBoin Bodh Ty i ol 388 3630 58 &8 T, (T, <T)) 3¢ Heo
FES GoATH. Mo 28T Dod 288 wHoddBn MIoT0EIL. sPUSS'

R
drdoydin R ofod, 398 [—*‘-’] Dend
RB

Options:
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When 50 / of air at STP (Standard Temperature and Pressure) is compressed isothermally
to 10 /. the amount and direction of heat exchange of air 1s

[ Use P,,,, = 100 kPa and In (0.2) =-1.61 ]

STP (8,88 eis Diaren) 5§ Ko 50 [ mdd 10 [ % s3-ier Hodbdssn
BoBODSHE 2 GRIVHEDH HoHFES0 HoBSH BFed
(P = 100 kPa, In (0.2) = -1.61 i 808 5050)

Options:



8.05 kJ flows out

_, 805 kI waswss @508
1

8.05 kJ flows n
8.05 kJ &°08 (558008

5 kJ flows out
5 KJ excsotoso (H5H000

5 kJ flows in
5 kJ %08 (&

L % 08 (DHTR0 08
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A vessel of volume 2 litres contains mixture of N, and O, gas kept at temperature 27°C and
pressure 2.5 atm. If the total mass of the gas mixture 1s 6.0 gm. Calculate the individual
masses of N, and O, in the vessel. respectively a [Use R = 8.314 J/mol K]

2 @&.Jg DRV IrdNd) wEFES” Ny b O, orodwdho doFan 27°C odosw
28550 2.5 atm Ked. Troin JEFdosn g, Jodsn @Egoee 6.0 gm FES'Y N,
oS Oy0 DENG (GEgoden H83m (R =8.314 J/molK m sdodn)

Options:
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A 20 cm long cylindrical column of radius = 2 ¢m is closed at one end and open at the
other. The fundamental mode of this column is resonant at frequency f. The amount of
water (m/) that should be added to the column so that the fundamental mode of the new
column is resonant at frequency 2 f 1s

20 cm rdy Ho8cdn 2 cm Jrgrgolio a8 QT rs™Y Fodn 2.8 3 Jrd &E IV
800 &HG. & JoFY @EWE 08 [fFI:Pdghn I oNTEINS” GHB. & Yow
ErE0E 68 2 fFsYTgls oo B0’ ¢odsB508, & 2078 FYHHORS A& H8S0rea 50
(ml)

Options:

10w

1 %
, w 20T

3 401

.« l60m
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A point source is located at a distance of 20 cm from the front surface of a symmetrical
biconvex lens made of glass (n=1.5). The lens 1s 5.0 cm thick and the curvature radius of
its surface 1s 5.0 cm. The distance at which the image of the source formed beyond the rear
surface of the lens is

n= 15585550080 Ko mad So5rHBS QS8cE00erEd ELE Swodood 20 cm
G0 2.8 Dok adfo eHd. u BLEY oddw 5.0 cm $odcdn do JEE TgIrEhn
5.0 cm. 88 I8 oo 8I8IIY Jod Srdod” HaEDowND D{ﬁgé&?ﬁa

Options:
| v 625cm

5 % D35 cm

- % 450 cm



5.75 cm
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The focal length of the objective and eyepiece of a compound microscope are 3 ¢cm and
11 cm, respectively. If an object 1s placed at a distance of 5 cm from the objective and the
least distance of distinct vision 1s 25 cm. the magnification produced by the microscope is

28 Joddng SrE)dfe” SEhEo Jddln wiibEow Sryrgodoren JHBXM 3 cm

Docn 1l emme &, 28 H2Ydo IELEAE 5 M Srdod’ GodYE TR HRG)A

EA% Goro 25 cm @08, & IrEEH0 S8 Dok sIgISsw

Options:
, x 2.45

. v 341

;% 6.82

L % 12.5
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A light source of wavelength 580 nm falls on a single slit of width 0.3 mun and gets diffracted.
For a screen kept at 2 m from the slit. the width of the central bright fringe is

580 nm &orzg gorfo s70@ 0.3 mm Sdeny fo QEDOED H DBEHB0 DoBI. WOEH0E
2 m Erdoes® Gotadd B8R 8y Sofak g8looh HEE Ide

Options:
| 7.74 mm

o % 2.87 mm

5 % 1.93 mm



4w 1546 mm
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Four electric charges. each of charge + q. are placed at the four corners of a square of side

4 cms as shown in the figure. The direction of the force exerted by the charges at B, C and
DonAis

28§ 8 £ ¢ sJdode Todh ASgTrITodH dLos® Srod Jfor 4 cm Huode
SSRGS EY T oo’ Godad. udTer B, C&od D w «3do AD
Seordoin e &%

A 4 cm D
q q
7 R 4 em
— 4 =]
L
B 4 em C

Options:

a2 -1 . : : ; : .
Tan™! % with AB in anti clock wise direction
— +

AB & o333g &3S Tan §earQ) Bdob

Tan™ % with AB in clock wise direction
242 +

o 18 o |

242 +1

AB & $5g 6¥5° Tan™
=

Seorqy D508



in clock wise direction

SearQ) DIy 35 BFS® Gotwod

YY)
Tan ' X2~ in anti clock wise direction
WY |

S 2B
[ 4l

o9y &¥s® Tan §eorQ) Bod

4 %
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A parallel plate capacitor with circular plate of radius “R’ and distance d "apart has a dielectric

. : . : R ,
medium of dielectric constant 5 upto a radius of = from the centre as shown in the figure.

F

The capacitance of the resultant capacitor is
a8 $FEF ddrodd Doy TFILEHS® Husw ‘R Tgardsn 804 d’ Erdos® Jdom

R
ﬁK__}J_.;TJ. Heroest Srhdddon ?Jﬁﬁogaﬁﬁiiﬁéo 5 fo 5'%¢8 oird8ody dHosso@odood 3

TR0 585 JovTE. HOS TFDLE TFHBY)

b | by

Option_s:
2
S5eq TR
1 ® d



S5e, 7R’
2d

15, 7R’
2 d

2e, 7R?

4 d
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Two copper wires A and B are measured to have same weight. If the wire A 1s 25 times
longer than wire B, the ratio of their electrical resistances (Ry/Rg) 1s

Bod o0 Sen A 0805 Bod FOASH® od wdPHs $0a eamon. B &rsod AsK
2538 FEJEE ©onSHE DefogS A& Gow 38 (R4/Rp)

€

Options:

% 0.04
. x 25
. o 625

L % 225
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The capacitors in the circuit shown below are charged by keeping the switch °S” open.
The amount of charge passing through the segment AB of the wire when the switch 'S'
1s closed is

Bod Brad Sochos® IFdLEH & ST 0D wIFdn T, Hb 'S Sord

GOy Ppoddn AB Hom (00w es3¥hn Jend

15V
| |
II
2 puF 4 uF
| | | |
|| | ]
A &—— v —*B
AW —— WWW——
552 10 Q
Options:
1. % GuL
.« 12pC
o x 24pC
, v 30uC
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The magnetic induction of the field at point *0” 1f the current *7 * carrying wire has the shape
shown in the figure is
(The radius of the curved part of the wire is *R" and the linear parts are assumed very long)

SL0g" Srdd esrdofo 8hhom 17 Agd HImrdn EIToNSHE 07 DodHIE
QS echayed (8dn

(S8 anferis) Tgrdo ‘R’ $00c8n THOH &1 rmen T PEIS) ©doF okw0)

Options:
Mol
, v 4R

o x Hol

ﬂn-"z
3 ® 4

.2

Mgl
4R

4 ®
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An electron moves in a combined electric and magnetic field. the electric field being
1.5x10° V/m and magnetic field being 0.75 T. If the resultant force on the moving electron
is to be zero. the minimum velocity of the electron in kmy/s is

28 JOEFTH Hooing Jgs odokn woham od JETed’t KWoirsddyod. vdha o8 Jgo
0.75 T S0800 dcdogd 3o 1.5x10° V/im r eraon. So806™d Jogdp HABosw
POFwo WY VDL, & JVEFEHDE GoLIOVS AL S0 km/s &

Options:
1. ¢ -



Question Number : 111 Question Id : 492863751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Consider circular loop of radius ‘7’and “N * turns with current °7 * flowing through it. The
loop 1s kept in a region with magnetic field of magnitude ‘B’ in a direction which makes an
angle ‘68" with the loop (as shown in figure). The magnetic potential energy stored in the
system is

7 argargian $o8asn Ny Ho a8 D)EmE8 iy ago T ddog

oA Gn
7
Y
Ej\
C
" E\
&A
Ejﬁ
&
C
£

G wab 08 B¥ H0Srwo ‘B’ o ([HRF0s” HLHnS® S

Fooo Dodw 8% Sodad. & 5’355‘3&3@ Qe ey wokar od ”-:g@za%’

I
' N such turns
N e eodl ﬁjmﬂ
Plane of loop
A.-{: vy Soo
7 > X
- - i
Lfrf - )
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- f?l- =
F
-
,
o .
' .Y
> X

Options:

1_ W JNT.?I-T'EB

5 % —NI 7r*Bcosé



3 —NIzr’Bsiné
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A conducting bar of length 50 cm rotates with a constant angular speed of 100 rad/sec
about a pivot at one end. If a uniform magnetic field of 0.1 T 1s directed perpendicular to
the plane of rotation, the emf induced between the ends of the bar 1s

50 cm FEHRo wf TTE Soddn T w8 Dd8do Dodoy Sdom 100 rad/sec
RF0SIEE Phowbn Bothsod. Fim Serds vondid® 0.1 T wobir od @)
80N, ¥ ok Dddw gy I (@08 D.13.2.
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In the circuit shown below. the capacitor 1s charged by keeping the switches S, closed and
S, open to a potential difference of 10 V. The current in the circuit at any time. when S; 1s
open and S, 1s closed producing a potential difference of 5 V across the capacitor, is

Bod Sr0d Swohod®, Db ;D Jurd HHdctw bd S, BOD w8 ITFDVLH 10V
FEA0HS BEIE TS50 Do, wé §;0 88D 50805 dE S [SordIHE
Brotadh Dl8e SV >TBAcHS o D{ﬁ&&éﬁ‘{;}é@ & Seofods® ﬁ?moéﬁ@@@‘ 0%

ad,

&

10V s,
1 z
1 pF
||
I
0.1 mH T\S’
DIDLLN )
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A plane harmonic EM wave with plane polarization propagates in vacuum. If the electric
component of the wave has amplitude E;; and frequency 1s v. the r.m.s value of
displacement current density is

TrRgod” o8 dodo (GoEId Jdddo EM 8olo Rosrdotdud)d. d8oiy dogd
0¥ B0DIDBS Ejy $08050 DH:Ygin v wondYs, ydEod d8ogd RIS Froldd
LILS Q009

Options:

L NEY s €y VE,,
, x 2T S VE,
- 271 e, VE, sin(wt)

L% .-\/5.??.' g, VE,, sin(awr — kx)
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A monochromatic 633 nm laser has a power output of 3 mW. The number of photons emutted
per second by it 1s

JESE Budy wendS FHgso 3 mW sond, Sud Sod B HElS”

Options:

1 ® 3 * ].{]15

g x 1"

« 1014
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1{]16

X

Question Number : 116 Question Id : 492863756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The primary finding of the Rutherford’s experiment was that

Er65g RR=ho BwE) TrdE el S
Options:
alpha particles have a positive charge

@@Qéwm »,’55‘.5"3%”?:{1 0/ Golron

alpha particles have electrons

SNET 0D O WOl

alpha particles do not deflect from positive charges

gonirw JTraTosy Jdvdo T

atoms have a nucleus with positive charge

, v DOSrEder $aad So@solds 8OA wolrow
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A 57600 W nuclear reactor has a nuclear fission rate of 1016 per second. If the energy
released per fission is 200 MeV. the efficiency of this reactor is

28 57600 W08 0a5rg6e® Sosé aQ)éze i 1016/sec. 68 28" 200 MeV o
38 Do wond, & OASTEE SES

Options:

1_%16
o W 22

o W 25

4.@"18
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The logic operation of the circuit given below 1s

Bod R2ES Jodhy &8 puroddn

Options:

. = OR

NAND
o

5 % AND

, v NOR

Question Number : 119 Question Id : 492863759 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The output ‘F’ of the logic circuit given below 1s

Eo8 2J(2&s SH D0 waNESa0 F

e

Options:

| v XYZ



L % (XHY)Z

Question Number : 120 Question Id : 492863760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Assertion (A) : For good transmission from a linear antenna. we use high frequency signal.

Reason (R) :  For good transmission, we need high power. The power radiated by a linear

2
: : v : e
antenna is proportional to [?) where / 1s the length of the antenna. v 1s

the frequency and ¢ 1s the speed of light

APNEE0 (A): TP wo8T D0 &S P8 whE FSidSghntie VNS TEed
o (R): &850 (DFo°AE 0O ¥8 5°HTH. TPoH wollar Hood Jenddd IESs 8E

r

F0ggo [?) 5 @0 IroPEs0S” Godoso. af) & | 036 soda

DD, v o0 FHPSgH0 000k c wI6 5708 5

Which of the following is true?
& 1808 TUS® B DB H0?
Options:
The (A) 1s correct but the (R) 1s incorrect
L (A) 983088 579, (R) H0cH&s 57

Both (A) and (R) are correct and (R) is the correct explanation of the (A)

(A), (R) ok 380083, (R), (A) § 388308 D58 2dy0d
o

Both (A) and (R) are correct but the (R) is not the correct explanation of the (A)
. (A), (R) Sodor 5833083 570, (R). (A) 8 20508 258 5780
=



Both (A) and (R) are incorrect

4 % [r*j"-) {R)aUCfJ“ ﬁﬂ@}}ﬁg EA)
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Question Number : 121 Question Id : 492863761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Which transition of the hydrogen spectrum has the same wave length as the Balmer transition

ny, =4 to n; = 2 of He™ spectrum?

TE R IGHL0SV I DH8IHES S50rBg go
n; =2 58585 S8k Do g8 HiTSH00
Options

— 1' e q
| % 1‘.11 i 112

L x 0;=3:0,=5

Question Number : 122 Question 1d : 492863762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0
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49286320
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Online
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40

Yes

No

1
49286320
Yes
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Match the following
List -1
(a) Rutherford’s scattering
(b) Heisenberg’s uncertainty principle
(c) Schrodinger equation
(d) Shape of the orbitals

8ol &R egHdhdm
e - 1
(a) Sr$63g HTFHeasn
(b) Trdceld odggsr Josbobn
(€) E@&oKE HABTdw
(d) edird) =88

The correct answer 1s

D8 LoD 2w
Options:

@ ® () (@
L (i) G @) (1)
(@ @® (0 (@
. % (1) @)  @Gv) (i)
@ ® (© @
2% (v) @) (@) ()
@ ® (© @
Lo W @ aG) (i)

(1)

(i1)
(iii)
(iv)

(i)

(i)
(iii)
(iv)

List-1I
Electron position and momentum

Quantum mechanics
Subsidiary quantum number
Nuclear model of atom

er&ia - 11
QOES FEB D8 (BDgRHB0
%] [
s°0b0 OIro|@8 7R 50
=4
QRTEAE scodoo Dopg

o858 DS SHorae

Question Number : 123 Question Id : 492863763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0



Among the lanthanides (except Eu and YD) the general trend of atomic radius 1s

rod3bod® (Euddoin Yb &) H8Srm orgardld) aodm ©5)8
Options:
increases with atomic number

DESre Sopgd” HHNHB0H

constant with atomic number

DTAre0 Sopgd” 8o erotnod

decreases with atomic number

2 @ DEdore0 Dopgd’ S0l

fluctuates (increases and decreases) with atomic number

DTdoren Doy drdodod (Rdrebod Hododn é@é&u&)

Question Number : 124 Question Id : 492863764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

For an element (M). IE, and IE, are 178 and 348 k cal mol™. respectively. What is the
energy (k cal mol™) needed for the following reaction?

' 2+ —
M(g] — M{gl +2e

28 Soredy (M), IE, 500050 IE, oo 36508 178 5865 348 k cal mol. §od $8g8

s ¥§ (k cal mol! ©e5%) Jo&?
: 2+ -
M(g) — M{g] +2¢

Options:



L % +348

Question Number : 125 Question 1d : 492863765 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following species have the same bond order of 27?

1Bod e’ J5d woPEHsn 2 Kod AD?

N,.0,.03.G,.N;

Options:

+
4 ® OE‘NE

Question Number : 126 Question 1d : 492863766 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the set of molecules whose central atom does NOT obey the octet rule

§ QoAr) FEoUl LYY VN8R Hiowdw

—

0|88 B83renY ©

BEA

Options:

. » €O, SCL, PF,

_ o PF, . H,50,.SF,
_ » PE,SE,SCL

. » H,80,,C0,,5C,



Question Number : 127 Question Id : 492863767 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The CGS unit of coefficient of viscosity 1s

)i Hoeagy CGS Hidregen
Options:
T
, » Nsm
1 1
cm " s
2. v s

5 x ot s

. x kgs”

Question Number : 128 Question Id : 492863768 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The volume of O, (in L) that can be produced at STP by heating 112 g of KCIO; is
approximately
(Molar mass of KC10, = 122.6 g mol1)

112 g © KCIO,; & 3&Bodon by 0,08085700 (L od®) STPIG dodsdore

(KCIO, 37er6 $5g0°% = 122.6 g mol™)

Options:
, % 20.1

, % 10.1
v 307

L % 402

Question Number : 129 Question Id : 492863769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Calculate the volume (in L) of hydrogen gas liberated at 27°C and 760 mm pressure during
the treatment of 1.2 g of magnesium with excess hydrochloric acid

[Atomic mass of Mg = 24]

1.2 go Dhachods @ TEEEE siod® $EgmAoRsHc, 27°C Hocs» 760 mm
2T I8, dddoH TERS TSN NIHo5reR) (L od’) 88 0thdn

L

[Mg 5857600 arddn = 24]

Question Number : 130 Question Id : 492863770 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

M
Calculate the normality of a solution obtained on mixing 100 ml of EHQSOJL. 50 ml of
. e |
gHN% and 25 ml of ?HCI solutions

M ' |
100 ml & ﬁstom 50 ml & %HNO3 %8050 25 ml & %HCI ok $ood AHAS

Tl o8l B odod

Options:
. = 0.52N
, v 0.29N

. % 044N

. = 0.66N



Question Number : 131 Question Id : 492863771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 10 L of an ideal gas at a pressure of 5 atm expands isothermally and reversibly to a final
volume of 100 L. the work done and heat absorbed in this process (in Lit-atm). respectively
are

5 atm HaESo A’JQ 2.8 @déﬁgﬂ‘*‘oﬁw;ﬁj 10 L S0d 100L % SELRs) ﬁt;ézr;’ﬁegcﬁ: T8
PIBceS® 280D, oD € Q50 (Lit-atm oe5%) S804

Options:

L W=-=115.15, q = 11515

W=11515;q=-—-115.15

o W

W=115.15.q=115.15

3 ®

A% W=-11515,4=-11515

Question Number : 132 Question Id : 492863772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In a mixture of 0.2 mole of N, and 0.6 mole of O,, 50% of N, reacts to give NO according

to equatiou'N.z{g) +0,, = 2NO,,, ata constant temperature when the reaction conducted

in a closed vessel. Calculate the ratio of the initial to final volume of gases

g

€ FH50S® 0.23rSo N,50050 0.6 3rSo 0, e, RE eIHS ¢ a8 Sarbdd
BS° DDEFHE0S'D 50% N, §od ddo8dbn @e i $8gTod NO & 28616008.

&

Options:
1 & 2':]'

o W D5

. % 0.8

s v 1.0



Question Number : 133 Question Id : 492863773 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

For the following reaction 2NH,; ) = Ny, +3H,(,,. 2 moles of NH, are introduced

into a one litre closed vessel. At equilibrium, if 1 mole of NH, was left. calculate the
approximate value of K_

Sob WEgs
2NHj oy =2 Nyoy +3Hy 0y, 2 3o NH, 5 o8 dboth Hurbis FBS8 Sodoms.
20878 58, 1 306 NH, 0Ad0s. K, G308, 08t dendd 88 oodn

Options:

% 07
. 1.69
. x 075

4 % 1758

Question Number : 134 Question 1d : 492863774 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Hydrogen peroxide reacts with lead sulphide to produce lead sulphate. Identify the other
product formed

TIFe oFs, TEIT)aE IgIeh B& ITYED AEYEoB0. GBS Hob¥

Options:

1 % Q;

o W HZS

- H,O

PbO

4 ®



Question Number : 135 Question Id : 492863775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the correct statements from the following

a) Liand Mg form solid hydrogen carbonates

b) LiCland MgCl, are soluble in ethanol

¢) KO, is soluble in water and liberates O, and H,0,

08 IS’ HBFISI AD?

a) Lidoddoin Mgeo H08 el s6hdded d8ytazon
b) LiCl So8cso MgCl, en 2E5°SS” Sdoibarow
¢) KO, 586 §6ih&08 H8obo 0, 5080 H,0, o ddde Saswso

o

1

2

=

4.

ptions:
% a.b

% 8¢

ﬂ?b.c

. a.b.c

Question Number : 136 Question Id : 492863776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When borax 1s heated during borax bead test along with CoO (Cobalt Oxide) on a loop of
platinum (Pt) wire. it swells up and produces a blue colored bead. Which of the following
compounds is responsible for the blue color?

Sof) &b 368, SogH Co0 Ferd e7f)s F8so (P bip 363059d ©6
Foh w8 0G0 o Fd A WE0d. & DB dmo Mo IB0Wssn §od T8’

28?2

Options:

1.

% PT(B02)4

_ . Co(BO,),



_, Co(BO,),

, » NaBO,

Question Number : 137 Question Id : 492863777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Producer gas 1s a mixture of

o LT

Bréogds gD B oSosn

Felr,

Options:

, « CO.H,

Question Number : 138 Question Id : 492863778 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Near the south pole. the ozone layer depletion is mainly due to the formation of

B8e (oS50 3G LES FE Shdoso, I8 (B) Aoy TS0
Options:

Chlorine nitrate

565 BS
1.9 7 B

SO,. S0, and H,SO,
- S0O,. SO; &850 H,SO,

Acrolein

T W Q@@E



Peroxy acetyl nitrate

, 20§ JR8S JIBE
4

Question Number : 139 Question Id : 492863779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following
List-1 List-1I

@ C+26a0—— (i)  Yellow precipitate
(b) 3Na, [FE(CN) ﬁ] +2Fe, (SO,), — (i) Turns lime water milky
(c) Na,S+Pb(OCOCH, ), = (iii) Black precipitate

(d) 'NaI+AgNO3 — (iv) Prussian blue

Bod T 28H8hdw
erda -1 erda - 11
(a) C+2Cu0—2- (i) 3P ok eSESS0

(b) 3Na4[fe(CN)ﬁ]+zFez(so4)3 S (1) 25D D8I Foerd 56008

(c) Na,S+Pb(OCOCH,) — (iil) Seod) Sofs eSES%0
(d) Nal+AgNO; — (1v) %S e

The correct answer 1s

90 9o 23T

Options:
(a) (b) (c) ()
o« (1id) (1) (ii) (iv)
(a) (b) (c) (d)

o () (iv) (i) (i)



(a) (b) (c) (d)
z x (1) (iv) (iii) (ii)
(a) (b) (c) (d)
L x @) (i) (iii) (ii)

Question Number : 140 Question Id : 492863780 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the major product (X) formed in the following reaction?

THCOCH,
| Conc HNO;
@/ Conc. HySOy =
A

Bod H8geS AV EHES GéFEn (X) 267

NHCOCH,
. FGHNO; |~
es HyS0y > X
A
: i1~'~l'14:~::~@«:‘Hs
O,N NO,

1 % .

:: . NHCOCH,

> v O2N

NHCOCH,
:: :ND
3 ® ’

Options:



NHCOCH,

Question Number : 141 Question Id : 492863781 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following compounds produces propan-2-one and ethanal on ozonolysis?

§od Do’ LEVEC00 TO (FFan-2-60 S0 ETS JGHDWIE I6?
Options:
But-2-ene

wﬂsﬁ-lésﬁ

2. 3-dimethylbut-2-ene
2. 3-303Sargi-2-43

Pent-2-ene

% 208&-2-&Q

2-Methylbut-2-ene
A 2-003Sa0rg s -2-S0

Question Number : 142 Question Id : 492863782 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Due to Frenkel defects. the density of the ionic solids

2088 &0 J9 wdSrIE PIVTTO FotS

Options:
Increases

1 ® Fele STV



Decreases

Koo
= ® )

Does not change

. o PSS

Depending on the composition it varies
. RombITrd) 28 Jrddod
g e [-%)

Question Number : 143 Question Id : 492863783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

1 litre of 0.1 M solution of was converted into electrochemically i acidic

NO, NH,
medium by passing 1 A current for 960 seconds. The molar concentration of in the

NH,
solution 1s

el oirdgos’ 1 0w 0.1 M @ Grdednd Jdogd Sarabdddon m, 1A

NO, NH,
Deiogeaso 960 Tbodin Hobod HE5YS0 Bobomd:. (S hne* @E@*@S .

NH,
Options:

. % 0.0048

o W DD]-.""
- v 0.0017

. % 0.048

Question Number : 144 Question 1d : 492863784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A complex represented by CoCl, - ¥NH, was dissolved in 1.0 kg water to make 0.1 m

solution. When this was mixed with stoichiometrically required amount of solid AgNO,.
28.66 g of AgCl was obtained. Assume 100% ionization of complex occurred and the co-
ordination number of Co (III) 1s six. K. of water 1s 1.86 K kg mol~!. What is the value of

ATofthe solution upon adding the AgNO,? (Molecular weight of AgCl is 143.3 gmol )

CoCly-xNH; o $03d) 1.0 kg d8S* §0000 0.1 m @5:07)) SSrsHBr. &
368 FonBr BBSGor 2035 AgNO, S §0B5HE, 28.66 g © AgCl D5)B08.
$o3gdo 100% o NESmo TobHIEY Hodaoswn Co (III) ?@%3&5 Qopy e v
e8oF 850, 8 Koo 1.86 K kg moll. AgNO, & 0289k @dod AT,dws
Qo8? (AgCl3rerd o508 143.3 g mol™)

Options:

|, 0.558°C
> % 0.186°C
2 x 0.372°C

4 % 0°C

Question Number : 145 Question Id : 492863785 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What will happen if a copper spoon 1s used to stir a solution of aluminium nitrate?

worgodobho JBE THrd) T56 Boord® FILIPE I 2B HS0E?
Options:
The spoon will be coated with aluminium

DoT W VOFrLLICN0 JE ﬁﬁg@é&oﬁﬁ

1 %

Al-Cu alloy will be formed
- Al-Cu oESoes o 88808



There is no reaction

:555 2380080
AR

There will be an explosion

a8 3]?’:’:‘0)&.:@0 28oMosoob
4 ®

Question Number : 146 Question Id : 492863786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Which of the following graphs does not represent a first order reaction?

Bod (TROS® I8 I0dE Eirod B Srdoles?

[A] In [A] rate 1 Y

y
4
\

Options:

, % a,b.d
o a.c.d

b.c.d

T W

4 % ab

Question Number : 147 Question Id : 492863787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following

(a)
(b)
(c)
(d)

1Sod

(a)
(b)

(d)

List-1

Oxidation of SO, (g) to SO,(g)

Combination of N,(g) and H,(g) to form NH;(g)
Hydrolysis of sucrose to form glucose and fructose
Hydrogenation of vegetable oils to form vegetable ghee

T RSDHBWH0

arder-1

SO,(7). SO,(7) 6 888w

N,(=°) $06080 Hy(7) © Soons =13 NH,(=) Dﬁgcéoéa
B8 Bodite Dod ArFE Soboin PEEes W
E.’J;}é Dowodd orew ?@ﬁéﬁéémo .;’JE 5y Somohd

Sleubly bfﬁgc‘éarés

The correct answer 1s

08 Lo Baren

Options:
(a) (b) (©) (d)
. w (i) (v) (iv) (11)
(a) (b) (©) (d)
Le O G @ @
(a) (b) (c) ©)
3 v (i) (i11) (iv) (1)

(1)
(i)
(iii)
(iv)
)

(1)
(1)
(iii)
(iv)

V)

List-1I
Ni

Pt

Fe
H,SO,

rdar-11
Ni

Pt

Fe
H,50,

Pd



@ ©® © @
L @ ® i

Question Number : 148 Question 1d : 492863788 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following contains highest purity Fe?

Bod TES° edghs HBHES Ko Fe ¢odd J67?
Options:
Pig Iron

| % DA 265

Cast Iron

11

o]0l

£
e

> % 57

Haematite

e aSTAT]
T

Wrought iron

A D Q0500

Question Number : 149 Question Id : 492863789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following statements are correct?

a)  All elements of group 16 form their hydrides

b)  The bond angles of H,O and H,S are 104°28"and 92°30". respectively
¢)  Dry SO, is areducing agent

d)  Pyrosulphuric acidis H,S, O,

Bod DS’ AD HBRBSI?

) () 16 5 o) Srovre T8 RGOS AGoR00

b) H,0 508050 H,S 0¢® 2088%0ren Sddm 104°28" 50800 92°30
c) &rd S0,8 §o8d s7d8a0

d & éw&g&g e H,S,0,

Options:

1 ¢ H.b._d
o W C.d

- » a.c.d

4 #® b.d

Question Number : 150 Question Id : 492863790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Observe the following statements

Statement (A) : XeF, readily reacts with water to form Xe(g). HF(aq) and O,
Statement (B) : XeF has trigonal bipyramidal structure

Bod JHbpodn HBIDoHW
D58 (A): XeF, Dogor 288 $83Tod Xe (o) HF (2o) So00cin O, o
Ddgdaﬂ’m‘&a

D58 (B): XeF, @Faﬁ BREES o7 Q) $0A Gotwod

The correct answer 1s

08 Lo 2%

Options:
Both (A) and (B) are not correct

L (A) D800 (B) o0 Dok $8G030 &9
1.

(A) 15 correct but (B) 1s not correct

, (A) 9650386 50 (B) 908036 56

(A) 1s not correct but (B) 1s correct

L (A) 305086 576 520 (B) 68088
=

Both (A) and (B) are correct
. (A) S00050 (B) w0 Bodks H050&SD
4

Question Number : 151 Question Id : 492863791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the species/products formed during the reaction of KMnO, with iodide under
weakly alkaline conditions

20N B8 oirdBos® we KMnO, & e&ras S8 ol bfﬁgﬂé& rden / BodraTrgo

K805

Options:



MnO,. KI. H,0

_, MnO, MO, I,

MnO,, KOH. 1,

T R

, » MnO,. KOH. I0;

Question Number : 152 Question Id : 492863792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the correct set for [Ni(CN), -

[Ni(CN),]> & So080d D008 SWEY Koordn
Options:
Tetrahedral. sp’. paramagnetic

:;Si&::dséﬁjo&m? sp3. ST i) 0

Square planar, dsp?. diamagnetic
|, dhde ddde. dsp’. daireaiinod
2
Square planar. dsp?. paramagnetic

DHde SHSEo, dsp HorecRaT, 0

Tetrahedral. sp*. diamagnetic
SdodydoRo, SpP, Gosrecidm, od

Question Number : 153 Question Id : 492863793 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Nylon 6 1s prepared from

IS 65 B $0d SSrHBTE

Options:



Carprolactone
S |TrerE e
1. % =
Hexamethylene diamine and adipic acid
, IR0 BADS DBk AEDE w0

Caprolactam

2 v SEPOrER0

Glycine and aminocaproic acid
AoS J08c0 St Erons edo
4 B o= a2

Question Number : 154 Question Id : 492863794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statements are correct about the inversion of sucrose?
a) Invertase catalyzes this reaction
b)  There is a change in sign of optical rotation

¢)  Glucose and mannose are formed in the reaction
d) Glucose and Fructose are formed 1n the reaction

808 T8S* HF'E IS DBNS5H H020HoD JEGS JIEwen ID?
Q) & IO AVSVE e @)Pee D08

b) (0% dod M) Srseod

C) & SEgS° AXE'E Dooh SrSE dEdosron

d) & SEgS° HrE'E Sodain PEE AGGarow

Options:

L 4.h.c

. % a¢.d

5« a.b.d



o bic;d

4.

Question Number : 155 Question Id : 492863795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The structure of the antisepetic chloroxylenol is
§ Qo

) 1ED 2300

L)

gr

§6'§8FE dSrotd

1_'h

Options:
H
H;C” i ‘CH3
| Cl
OH
H3C
CH3
o W Cl
Cl
H;C i ‘CI—I3
z % OH

cl CH,
HD: : :CH3

Question Number : 156 Question Id : 492863796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following statements 1s/are correct for the reaction?

(—}—2—111&t11}r1-l-butanﬂ]' conc. HCVA , (+)-1—chloro—2-methyl butane

a) It proceeds with inversion of configuration
b) It proceeds with retention of configuration
c) Reactant and product differ with respect to rotation of plane polarized light

Sob Hgso 2 DS5Eea(en) 589_332‘653?

(O2-2036-l-orgs's _ mEHCVA | (+)-1-56-2-2036 2rgB5

a) & WUy ST ITrgdo THoT 2R
b) & G5 choersd dargdo &qo” eifalo
C) (BoiradEin Hodosn tréy)hn dhde (IE 5708 Eoerds 020800 JBHFTW

Options:

1 % gt

o % A.D

L v b.C

Question Number : 157 Question Id : 492863797 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The number of resonance structures possible for anisole is

AVFEE gty OERY) AoEre Do

Options:

1%2

ra
8
(]



Question Number : 158 Question Id : 492863798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

In the reaction given below 1f B 1s 4-hydroxy-4-methyl pentan-2-one, identify the structures
ofAand C

§od add $83S8° B 0odd 4-@8)-4-036 2oBI-2-40, vand A Hddn C o
bokod

Ba(OH)
A 2 3p B 40
—H,0
Options:
7% C
0 M O
)K Ex\{ CH :lcl* “H
CH; CH;, LI - Al B
. Me
7% C
Py e
H,C CH, /,-: € CH,
o % H,C
% C
H
B >
C=CH-C-CH
H,C~ NCH, o 3
g % £
% C
O-H H O
)\ ME\C'H J‘ :ltl CH
) B 8 M‘“CH*: / e W 3
3 Me |
HO



Question Number : 159 Question Id : 492863799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The reaction of 1-1116?(11}4{:}?{:1011&}{-1-6116 with O, followed by the reaction with Zn-H,O

gives X. Compound X on warming with [ Ag (NH3 / OH pmduces Y. Whatare X and Y?

1-2036 PETE-1-&5% 0,8 $85 2023 85050 Zn-H,0 & 365 addm X dinob.

X sdydssint [Ag(NH;), /OH 5 BaBahm Y OSds08. X.Yes 297

Options:

X b
| % OH O

X Y

O
CHO

o O

X o

Q

CHO Q e
CHO HDM
3 #®

v
o j\/\/\/\
OH HO

Oy -

OH

Question Number : 160 Question Id : 492863800 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Which of the following reactants gives meta nitroderivative, on nitration with conc. HNO,
and conc. H,SO,?

Bod Bosradstos® mE HNO, $8cs» m¢ H,S0, & I BaS 2ddm Jobr3 s’
ﬁéﬁ)é{}fb&:‘ﬁ) R IE NTAY
Options:

Acetanilide

% IDERBE

Phenol
5 % FTS

Aniline
2 ¢ NS

Chlorobenzene

. §6B0ES
4. o



TS EAMCET 2018 Medical Stream

Final Key
Date: 02-05-2018 AN (Shift 2)

Answer

Q.No.

121
122
123
124
125
126
127
128
129
130
131
132
133

134
135

136
137
138
139
140
141
142
143

144
145

146

147

148

149

150
151
152
153

154
155

156
157
158
159
160

Answer

Q.No.

81

82

83

84
85

86

87

88

89

90
91

92

93

94
95

96

97

98

99
100
101
102
103

104
105

106
107
108
109
110
111
112
113

114
115

116
117
118
119
120

Answer

Q.No.

41

42

43

44
45

46

47

48

49

50
51

52
53

54
55

56
57
58
59
60
61

62
63

64
65

66
67
68
69
70
71

72
73

74
75

76
77
78
79
80

Answer

Q.No.

10
11
12
13

14
15
16
17
18
19
20
21

22
23
24
25
26
27
28
29
30
31

32
33
34
35
36
37
38
39
40
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